MHNFL

TOOLING SYSTEMS

o)== kb it

www.manyo-tools.co.jp




ﬁhtﬁﬁfﬂlﬁﬁ&ﬁﬂiﬂa

www.manyo-100lS.cop  maemamN B

p=5tl J=Y27 ZATh

ORHER

YAV BEROIBRENENICRIANET,
BERICHERINTRTERRLET,

IhETEH. ThHSd. BEROBLICRAGRITET
PEROELZZ B TRREREINIBHEWVLTEYET.

ﬁﬁ:io)t_zf‘ 2, !

LI9mT - RALBEOIER
OHHLEYNIEHRFTHAERRDBRHTEVET,
FITY—IFILEDEMYHNT B PHEAOZNF ICRREFEFEERLTILEE L.
QT EDENY—IFINAERIFTETICLBEROBEHPTEVET
EYEERBERPFI— 70OV I FEERALEEMERTALTESL,
ORI, MhhENHAHEMARITHMALRU BB ENBIET
{ERAICIE. NG OLRWIEZRELTIZZL,
QEMANICTRBIUMIMOTEERBLTIEE,
QLI AEERHET M. MBLERET DA HUET,
ERARICEIEA M EHBLUTIEZL.
O LFREEFEIFAEADIEERMONIVAN BV ERIRBICEVTANEHLERETS
EEAHIET.
HEREMTRELNTAORERZLTIZEW,
OLRDFRF AT+ TT LM, MW EBERRETIREIHVET.
YR AERTABIUMIABRICRE o/ bOEERLTILE,
TRIEY=NFRNAIZL oY EEE ULIRNEMAD R DICLTESL,
AN=7I 1A TRTEF v TPERDHEICI T TENTOBREH B LTI EEL,
OINTHDRFAT+ATTETREPIMITYH M LRILT BREBEDSHET
NTHORFFEHERICEZEOTIEELN,

MITHEOTER
OEREFOIH. MIMNFICHAHAEEFRELEY, RiEPOIR. MIHFCIEHICRSEL
TLIEELY,
FRBICIADHDHHEEEAENDEED BV ET, £2HOHVKMEITALTIEZZ,
@Y/ —LFIIL A INITHICH MR RFE 2 S M. RLERETRREDIHVET,
Hiz RO EDRIBUER MG ET DML HYET.
BFREAN—PREDHIRFOREAEEMLTILEL.
@)L EEBE LY AROERBMLINTER TS, TRAEN. RMLERZTS
fEBRABHUET. VLRI AEBGELHRNTLEEW. RROERBEMTHERLTIZZ,
O UHIFAREEOUMIITHLMEEZLS LR OBRELTIIESL,
MIHORACHEBEICEDE TURIRFENH T2 BENHVET.
OMIPICERELIRBEHSRELLBSEFEBICMIERIELTIZZ0
FOFFEHRFHET AN, RBLERETIDREDHUET.
REOREERYBFROTLSIMTEBH LTI /ZZL,
O@FENEALYRMAILREDY =LA &R LHIT 5 ERH. RORECGY) £T
V=R ETRLT/EELN,

IMITEOITEE
OMIE#EOIR. MINEHEBICKEO>TWALDARETZRESHYET.
MIMERFTRELVTILEZL.
OMIMELENTERETIRBALHYET, FFETROSBLELTILEEL,
@INTEFHTIMIHOTHEEFHRL TS,

CIRMMREROIER

@Y —FNAERIMREENBIEEEINNETF v v OLUA LTIRELEEWD
FRIDETORALCGZYET. DLHRMBRESNEBSEF vy 72— E020THER
HELETOTHASMIICASTILEZLY.

OUIBIFEHEZMUBINERH L TT —/ 1 —EBF ICITHERI A ROMRICRBLTIEZL,



@MHNH-‘D Tooling Systems o

CE MILL ARBCR

223A—0OYV—Y VI ATF LD EEEMIREZ Y R—b.

INDEX

E7 14 ZINFP—/S@FM.FMAFMB.FMC BIFACE MILL ARBOR --ooorverrrssssesmss s >>12~15
EEEUE SERENIRT Y7 —/\0FMP.FMH
WPLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING)  «ororeeeesesmmmmmmmmmmmmsssess >>16~18

Ay EFAE=F=i
EIEP20

HEAD MASTER ARBOR

"~ —

EXhL— R4y T 1A AZNF—/\OST-FM BSTRAIGHT SHANK FACE MILL ARBOR -oooovvereeees >>19 SO
B~y KT A&Z—F—/\®OHMA BHEAD MASTER ARBOR (FOR MODULAR MILLS) wovorrrereerereeeess >>20~21 S T e
EARL— RS 2s Ay KYAZ—F—/\OHMA-ST BSTRAIGHT SHANK HEAD MASTER ARBOR - >>22
WX 2L —25 7 #L f@HMA-SCA BIMETAL SAW CLAMPING BOLT +-eoeererereesmsmmsssr s >>23
WY A Ky &P —/S@SCA ESIDE CUTTER ARBOR +rrovrsseemrssssssssmsmmssmssss s sssssssssonnss > >24~28 p i
B RL—hko w22 H1 Khy 27—/ \@ST-SCA HSTRAIGHT SHANK SIDE CUTTER ARBOR -+ >>25 S
WILTYIR S—USTF oy OMMC EMILLMAX MILLING CHUGK s S A
WA RL—haLy FOMC.MC-MT(T Ly k) BSTRAIGHT COLLET -emersrsmssrssssssssmnesssasssnesns > > 28
WALy FF+v 2L E@OMRC(IL Y k) MCOLLET CHUCK HOLDER -rworsssersssesssemmssseesssessenses > > 30
EMRCaL v h.F b, LY FOMRC.ER(I LY k) EMICRO PRECISION COLLET :ovvrereesssssnrereesees >>31~33 S
WAL L— ko2 20y hF vy 2 ®ST-MRC.ST-MRC F MSTRAIGHT SHANK COLLET CHUCK -+ >>34 R oLen
W4y 7Ly hF vy OMRT HBT SHANK TAP COLLET CHUGK «iwwssrssssiinnsssessssenssnisinn: > > 86
BARL— RS vy o2y Ty hF vy 2 @ST-MRT MSTRAIGHT SHANK TAP COLLET CHUCK - >>36
WEBOS TR AF vy 24 AOMTC MSUPER LONG SLIM CHUCK HOLDER < covsseessseessrensssesszes 5587 W AA—
BIZAFYYaYAY L 2y 7HRILEOMRC20-ST MTAP HOLDER (EXTENSION) oooeeerserssesmsmemeeenees >>38 " ?5
BTYAF Y a HEiEhHIL S OMRC20-S MSHRINK FIT COLLET CHUCK ER SHANK - >>39
WX (DAL A —#WOTBTE0-SFH MSOLID TYPE SHRINK HOLDER rvrererressrerreesessesessssiees >>40
W5 5 £ EEOHC-01 MSHRINK FIT HEATER -rrrsrterrssssirssmersssssass oo sso i >>41
WA RL— by BEEHARLASST-S BSTRAIGHT SHANK SHRINK FIT HOLDER e > >41 94 mﬁ,‘;m;
B4 KOv 5 I K3 AL ASSLM.SLA BISIDE LOCK END MILL HOLDER: -+ +ossrirsersessississsesssnnee >>42~44 Ve
BIIRAFToarHA KOy AL OST MEXTENSION SIDE LOCK HOLDER v rvveerssersencsees > > 45~47
s c—— ﬂ
WYy I—YUPF 4y @CWM BMWEDGE MILLING CHUCK -evessreersrmmmsmnmnssssss s stsassssnssssnses > >49
WOy 2TV KIAILEOSLD MPIN LOCK HOLDER rrrsersrmseremssessssissi s > >49 5 ”Tfé‘.,:;gu
WE—LAF—/\—HILA ABOMTA MMORSE TAPER HOLDER (TYPE A) e > >50~51 e
WE—NAF—/\—HL 4 BEOMTB MMORSE TAPER HOLDER (TYPE B) e >>52
WOA v 2F 1AM EOQCH BMQUICK CHANGE HOLDER: -+ cvessrsosmssmss st >>54~55
WEES S o048y THRLE BTS +> 2 ®STM BHIGH SPEED SYNCHRO TAP HOLDER BT SHANK -+ >>56~57  p—saizs—usoayk
BHES /02y TS AL— kv 2@STM(AL Y B) "'w'ﬁfsﬁ-*\’-

WHIGH SPEED SYNCHRO TAP HOLDER STRAIGHT SHANK :evveeessrssssissisnssssnsaenees > > 56~57
WO —LAEPHE—) YAy KOBSA.BSB.BCA.BBL MBORING HEAD -rrerseesmsrmsmemsstnsssnseoe s >>58~64 /
EAO—7%9 1A/ FOTBS BTHROW-AWAY BORING CUTTERS -t wrmsirsrsesssmssssasssessnsssenss >>65 s
W52 R/ @TS BTEST BAR, tesseesmibisasissssisssssisieismsimmsssistasospsssissszssssssssausmpinsemmpmensremsssssssssss: 3 66 ’"“‘_,,ﬁ,ﬂg’;‘g
WOYF2T T4 AF ¢ P—(TREFE) MLOCKING FIXTURE worerrveesesssmmsmssmnsss s > > 66 B
WEyF ANy T RS ERES) ©S12-R5X 150 MTOUCH STOP v > > 87
WA A LR S A H— (S5 LRIEE) @S8-RO0 MDIAL SLIDER rrvvmsmsemmssssiss ittt s >>67 &
E7IL A4y K BRETENTION KNOB (PULL STUD) «wereerrrersssisssummmnississ s > > 68 HEKT 2 (22078
W55 74 ®MBA.HCB BMCLAMP BOLT FOR FACE MILL ARBOR «reevisesssessssnsnrnsmnsnnsnnncees > > 69 RS
W2 EHEAN— 4 —@SP MTWO FACE CONTACT SPACER rr:trvsrressensssrmsssessssesssi s > >0
WHSK T T A I P —/S@HSK-FM BIFACE MILL ARBOR :+:rocsvvssevmssrmssssamssnsinsisnsissssssseenesees > 374
BWHSKI LT Y IR S—UYFF 4y 7 @HSK-MMC BMILLMAX MILLING CHUGCK roorseesssremsssessneeseees >>72 HSK 21w 72

Sl Frul
BHSKILw hF 4y 2 4L 4 ®HSK-MRC MCOLLET CHUCK HOLDER: -+ sesssssesesssasssossnsssnsssnsnins > >73 s UK



@MANRL

]
P LI pat e

9= hAN =G
COOLANT THROUGH BODY

P

| O JRULEALT

|

LONG SLIM TYPE

300

SMANYD BT540

3

ANGLE3®

WEANY RA—=hH—
SECO OAVETAR—=~AYER
SANDVIK EYa5—a03
4T b o U el
Z=ETUTFIN | AZUa—A U=
AV —I €15 —3)
- AHN TILFITAR—%PEL

Ay N TER

Ay KR RR—=T—/\ i

Al P20 HEAD MASTER ARBOR

€35 —NYTH
ARBORS FOR MODULAR MILLS

ik

EEUPHRAOMIICh\THERERENICH EVEZLET.

BNy KRB TITAEENIES.

WOV JAVARA TEFESBICEYT—0. BREOTEN
BHE NEEEDEEWVELET.

BF50A. BTHEEMILTERL TOWELETET.

(EF«4 744 —a)

EBT. HSK ¥+ o 7—/N a— Y1 ZXps0rJYA

XETINZGA TV T,

Features (HMA type)
WHigh rigidity due to minimum projection length.
HLess interference to workpiece and jig by using long

and slim type.

MHead can be changed easily.

’ TERHLEEAREICTEBYATLT
BIEOBIME 7IVGERTEEY.
Maximum efficiency for BT, HSK spindle machines

due to the reduction in the “actual” overhang in
long and extra-long applications.

B HMA 7—/\

J

NI AER
RIGIDITY IMPROVEMENT

BRI (281 XE0F) PRLTHNERAY Ko IERLLZTET,

|

WHRI—-V2ITFrv Y

i

i
—

—

w
3
P
s e
MMIEIEET

RIGIDITY DECREASE

Buoj




ftht. #BAE 2 ICEHZERBVWELEITET. el gl
. BRE A IT=NNIHT Lifels 5 N
Other brand carbide arbor can be used :EVJ_?'—ZD Y I\jJ i | a

#4015 P23 MODULAR SLTO CUTTER

METAL SALY CLAMPING BOLT

Fife

HAY KTRAZ—7 =SB EEDT |
A NEH.

WSS BRI AR O T A58 < I TAEEH UP LV fe
LT

HY Uy KAy KCERBHREL I THHN.

MO 7OHYRELBRLTHERG. £
B URED R,

L T g AT =AY T HES Do 72

EERR - SHEEOSRI—FT« Y JORAT
BESMIHERIAEUP VELET.

Features (HMA-SCA type)

BModular head style with HMA arbors will
help your cost reduction.

BNo interference in front area, so
machining efficiency will be improved.

B Solid head is reusable by regrinding.
Ecological and economical.

BHigher rigidity than brazing type cutter,
so better surface finish.

BMNewly-developed tool edge design with
very high cutting-chip discharging.

BMLong lifetime, due to special coating |
with high heat-resistance and hardness
Machining efficiency will be drastically
improved. u

HMA kL —h&147

HEF17145—a» (BHNI)
MODIFICATION

OVIAYLRATOF7—NZRAELTEYETH. S5ICFHTHMIH
HEUAHERT—NNERT ZIBMI L TFSEBRTZBNTEET,
Long slim type of arbor is available, furthermore the arbor body can be
modified to prevent the interference.

Iﬁn:ﬁmlwmmﬁtﬁfmm&<ﬁéu
CAD F— A CHER#IR L= L E T,




T R—AN—FAIVHR=ICHXIGPTHE !
(F7232)

WINIH (FHRK(Fdm)

example

BT50-FMH40-500

| BHZHEN Y RITHE
REO I 7 —/\NTiE L500 £ TIREEM.
| HRZEOVIT—INTIE L350 FTEMTIEWET.

H IS4t

{ERNE
hva
T—IMH
VIEIESES

: (MCR—ASLC)

1 (R245—125Q—40—12L)
. (FCD—45)

: LA AE 140m/min

c E#sEIRE% 360rpm
F—=7I)xE  200m/rev

i P18

g0:END

RZeR B0 7—/\
(EnxvYhv42R)

NELW LIGHT WEIGHT HOLLOW TYPE ARBOR
(high feed cutting)

2R LRI EFTRE !

Available: spacer for two face contact

FhZegE i
LIGHT WEIGHT HOLLOW TYPE

mEEY S iiFaEDSHOEEYBO Y
TP—=INhZBILTDHRICEL)Y—ILOHE
RICHEEDAUREZA T LUEITEIED
mEWzLELE.

WEFICTHCEICEYIAE—X
BRYIRZBRHIFESICRUELE.

BLess vibration
Higher rigidity than solid type (heat
treated both out & inside because of
hollow type)

BLighter weight than solid type.
Easier to change tool (ATC accepted)




\’J

a— PSSOV IETRELIETA T YT

—a1—3INITYIR
=D TFvvy

3 P26 © NEIW MILLMAX MILLING CHUCK

O> Y94 X L500 & TR !

Available till L:; 500 (standard)

AANHN—11E

dust cover structure r

HEES

completaly sealed

o BRI
;ﬂy')?\? “J.I ?_J% High rigicity Structure
| O A HE TR UP

1 Higher rigidity with engagement of
. nose piece with chuck body

BEEY. T2 RIIVRFISROBEEI -2 IF v I Fry
IRTF1—OIRREBHIRETEHFRICELERMOHDA) v R—
MHBIEEZET RO GERICIRIELiRTIYZWVLET.

BWOTHAHERICHESLSICHMH LEFORBEED ULEELR
Q).

BEETEHCS (Zyah. 204, EUTTY) PEET
HEEEEIERLY 7 EO0EBAELTOET.

WAt EIRIBAICHRERITT DF vy IRT— L/ T
JIHEDTE LY.

WU IDEENERTOY 20 ROLTERWELEY
£

WA combination of increased number of needle rollers
and 6 tapered grooves inside of the chuck body
exerts. 500kg-m chucking force.

MEngagement of nosepiece with chuck body creates uni
body structure and increases rigidity tremendously.
MHighest quality material:Nickel,Chrome,Molybdenum
steel, hardened and sub zero treatment guarantees

long life.




ALY NMIARDELTHS - 2y THEVITHE
OERMBM TSI AL BT vy b
 usmsrss Y IRIVA

2y 7 ERMICEUSERHERX Y 7INIA.
(7O— b 22N —2A1 )
|

‘ BAEY KLOESR. BEOE Y FEEERIR
WELET,
£y 7 ALY MA X-M3 ~ M27 £T
‘ (16° ER 3L v M)
4% P35

M Accurate threads are made by the
floating mechanism, compensating pitch
| error of the machining center spindle.
Collet Size:--M3~M27 (16" ER type)
Details P35

FHRAYN—BBUFNELETOT. ET[BEISHEBREEL.

@ AT SR AR
NC feft. BMEMIH. Y>=2T€22—A  G<TFSHSLRL - Ry TEMRICELL

o L A=y yaLY
2y FHNG

(7O— bt a—ba17)

BAE> KIOIER, RO E w Fia%E &MY
WelL%d.
AuyF7aALy hHALX--M3~M27TET
(16° ER Ol v h&E)

Y,

W=ty A —RR A ++I3 P36
(£ 2 — ZU—3Hi5)

B Accurate threads are made by the |
floating mechanism, compensating pitch
error of the machine spindle.

Collet Size:--M3~M27 (16" ER type)
Details P36

MAEE AN
(Era—Al—5E)

FHAY N —LEEWELETOT, BRECHERBEEZL,



FRY—IAZE!

‘ Special tool is not required.
KIHOERIRY &b R (QCH)
QUICK CHANGE HOLDER

HE

£
o+
0
w
B

RAB7SA AR T T82—0 BT V—IH
ERERDIAVIFLIV I VATLTY.

Quick change system makes BT shank tool holder for
machining center use with manual milling machine.

BT vromN 727 af|BLETY hﬁ(ﬂ‘fﬁ%%/lj‘h -
Clamping/unclamping by a nut with V flange of BT shank.

TIWAZ Y REFTHERPTHE.

Possible to use your holder with retention knob.

fthtt WBTHI A E{ERMPTHE

Other BT shank nold ers also can be us

BAR751 A%k acH

FAPF LIRS

Fposnt  ZEF--

"‘M@ ---ﬂM_AL;J,u

BHAL VL BBTY Y=k &

. BT50-BT40 - BT30
WY =it s— 3 BTHILADEBTHIL KB THE

BT shank can be changed to BT shank.

S =

i 1l o— u 1 __
RHRES w@ WBT v oY=k 4




IORT2aAVPARTLFIVE

‘ EXTENSION MODULAR SYSTEM HOLDER

- ——

N

BT-MRC20 aL vy hF+v ¥
(BT30 - BT40 - BT50)

16°abwv hk

HSK-MRC20 AL v bF+ v

MRC20 fit Z[E&RIL X

(HSK A50 - AB3 - A100)

MRC20 >>onO4y 7HRIVA

| ﬁ% Features

Mt FARICEERENTWAS 16" by My o &E(C{E
WP BBICEALSNY—ILRILATY,
BRNMITPSEUMNTIOFHFT. AROFEHERT—IOF
. RVEIAZ . BB T ORI TICE & S
T=LES,

W= EHRIL AL, RILARENE, BERSETHMEIRA
L. FO®AEH. WBSETIDZESVRNLEE. &L
BELRBE. SiREHCFvvF T35 HRILETY.

W02y 7 AUARILAG. 2y TDT7Zy MNiaERS
THAROvo§ 3 7INGIEEICESTE Y. I
{EMIAITEY.

W/ N DA, SRR THEMENTE BT IC KU RN
ADBWNFRILETT,
BHONTUHTIRILA (No4a0 ) wZHAESHED
LY, KUBOBENSYADELONET.

W2 —ACEVBRAGHEASDEHERET. 1RO v b
Fry o BEEESRILA. o008y T A LRILA
(. BEICIECTHAR DU D BEIHET Y, R AOTTEE
MLy b ER U B TRIBMEEDITAHIRIEEORL
FILATT,

B This is the tool holder which is created to use
world well known ER16 collet system.
This tool will work fine in area of part machining,
molding, deep cutting. and a lot of interference
difficulties.

WShrink fit holder is a chucking system that utilizes
the difference in coefficient of thermal expansion
between the holder and cutter shank (carbide).
This holder maintains high accuracy of run out.
repeatability, and strong gripping force.

BWSynchro Tap Slim Holder is a simple structure
tool that is used very easily tightens the tapper's
shank by side locking.

BWGround chuck body for perfect tool balance.
Also when you combine balanceable holder
(VECTARON), you can find overall high level of
balance.

BWAccept modular system (collet. shrink fit holder,
synchro tap holder).

-



@MEND

o manyalonis (818 e & -y

MiRL¥5E Run Out Accuracy

0.005LLF

less than Sum
1/_\\

el —

= s
4d
WAHICEAEBEHICE ST, DEEHEEIC t l’
Fry kU ITBERTTOT, BELF v w Vo N I'4
FoIDIRVEEDSEEWVCLET. @O—p _p.q.,
WShrink fit holder applies heat to induce ¥ ‘ N 7 t ®
thermal expansion. and then contracts f%k (30070) A1) (%8
gain the gripping force. This achieves Heating Cooling
stabilized run out accuracy.
B FHRRE Interference
ALy bFvvy BEXIEHRILA
Collet Chuck Shrink Fit Holder

T

Interference

WIS FRRBICTFHELEWVERILA
ART., IHOREEBRETMILTRITETY, 7
N
el oty
ESlimmer design of the tool holder body é )
allows additional machining to be easily ,:{.:- 21

performed without concerning the s
interference limitation. '




| FM 714 A3V 7—/N

| FACE MILL ARBOR

JIS B 4113MRBIEE 7 71 A Ay ZRA7—/\
* BELRMMTEZAEZ RO Y RITHE.

Plenty types are available for various types of workpieces.

*TREIEDSEEFETRIES ZHAWEETET.

M _ L _H
= | HeB
7 -
5:;'. _ | ) ] = ~
e ::I !—- —
4 il il B
S 1G] '|_ | B " '
)| v
7 } L ___H
| L MBA
A L |
z e <o Ef€c| -
(@) ‘—?H | = | |
L 1] 0 ) B
= G RS
F - Tk ]
> dl 4 MBA
T || )
93] — 1T : L
o} Ul 1] | —=
X -—-:\II 531 .!__l.l_' m I ' —
—l IT_L;I| Wk ES
/ — - H.‘ |I _:l ; ‘l i | vFD. : \. 4
_ - _7 s o %S
TA)—7 fic4 = = A | = i
$47.625% ¢60 -
CODE FIG od B D CRlCING
BT30-FM16 - 45 45 | _ | _ |HCB-
— 1 16 = ]__32 16 5 | 8 | A
BT30-FM22.225 - 45 . 45 - ‘ _ | HCB-
— 1 | 22205 —= 45 18| 4 | 8 N0
BT40 e
CODE FIG od L D HIK[|[wWIJ[c]|]ci] G
BT40-FM16 - 75 1 75 [ - |
-100 100 l
155 | , 16 [125] 32 |16 5 | 8 |45 - e
-150 150
175 175
BT40-FM22225 - 75 1| 75 -
-100 100
126 | , [ 22225 [125]| 45 |18 | 4 | 8 | .| - Ty
-150 150 |
175 175 | |

WHTEY o eI LU BEONZLET,

Special size is available upon request,




FMA 711 AINT—N

FACE MILL ARBOR

@A

———r LS B mast m ren

CODE FIG | 0d L D | H W Ci] G
BT30-FMA25.4 - 45 45 ) MBA-
=22 1 254 52— 50 |22| 5 | 95 g3 | e
BT30-FMA31.756 - 45 3 | 3175 | 45 60 | 30| 7 |127| - | 40 '“ﬁg'
CODE FIG | od L D KW ECEICTRNG
BT40-FMA25.4 - 45 45 |
- 75 1 ?5__ -
100 100 MBA-
o 254 qo5 1 50 | 22| 5 | 95 B [NER
125 | , 125 | 60
150 150 | |
BT40-FMA31.75 - 75 75
100 100 ) MBA-
R 1| 8175 |45 60 |30 | 7 |127 4 | MBA
150 . 150
BT40-FMA38.1 - 75 75 | ) MBA-
—&o— 3 | 381 555 80 |34 9 [159 50 | W20
CODE FIG | od L D [H[K][W ECIBNG
BT50-FMA25.4 - 90 90
150 150 | 70
200 200 MBA-
Se0— 2 | 254 55 S0 |22| 5 | 95 33 | MBS
-300 300 | 75
-350 350
BT50-FMA31.75 - 45 45
5 75 |
105 105 [&
150 150 MBA-
oo 2 | 3175 [5g51 60 |80 | 7 |127 - 40, | MBA
250 250
300 300
2350 350 80
BT50-FMA38.1 45 45
=75 75
105 105 |
150 150 ) MBA-
s 1 381 [5o| 80 |34| 9 |159 50 | MES
-250 250 |
-300 300
-350 | 350
BT50-FMA50.8 - 45 45
- 75 75 | .
150 1 508 | 150 | 100 | 36 | 10 [19.05| - | &5 |MBA
-200 200
250 250
BT50-FMA47.625 - 75 75
100 100 | | Hee-
55— 4 | 47625 g5 12857 | 38 |125| 254 i
200 200

WEFRY 7 XD FEIC AU BEEVE L EY . Special size is available upon request.

FMA47.625 — FMB60 EifAU—7

CODE

$47.625 X 960

S—N<s/mXNAHN VINL

=
>
Q
m
=
=
e
>
5
o
(@)
5|




FMB 2IAAZIIVT7—/\

FACE MILL ARBOR

(M)MHNLHL.I

——— . 14

¢ EP BB TEZASRE D Y ZITHIS.

Plenty types are available for various types of workpieces.

I Yo REY 7. EaAHIEET7 71 AR

Ll .
g R —_ _‘!'_ d
@ Hee :
7z
T
1 =4
A
3
9|7
g MBA
}l\_ G
=[S I
; ] ‘. -,
0
m
=
- .
> BT4D -
o ~ CODE ECH R D R R e N D K W [ RCE GG
e BT40-FMB254 - 75 75
100 100 | MBA-
o5 | 3| 254 [ 78 | 26| 5 | 95| - | 33 |\N5
150 150 N
BT40-FMB27 - 75 75
-100 100 | MBA-
Ea ° 27 5] 78 |26| 6 | 12| - |33 |\§3
-150 l 150 i
CODE | G
BT50-FMB25.4  -150 150 -
-200 | 200 | |
250 1 254 [250 | 80 |26| 5 |95 | - |33 |NBA
-300 300
-350 350
BT50-FMB27  -150 150
-200 200
250 1 27 [250 | 80 |26| 6 | 12 | - |33 |MBA
-300 300
-350 350
BT50-FMB381 - 75 75
150 150
200 1 381 [200] 8 |26| 9 |159]| - | 50 “,3452%‘
250 250
-300 300
BT50-FMB40  -105 105
150 150
-200 1 40 [200]| 8 |26|85| 16 | - |50 |MBA-
250 250
-300 300
BT50-FMB60 - 75 | 4 60 75 | 140 | 25 (125|254 | - | - | g™

WiEFEY o A8 EICEYSENZLET, Special size is available upon request.



FMC 7114 AIIV7—/\

" FACE MILL ARBOR

CODE FIG| od ED H G
BT30-FMC22 - 45 45 | | _ |HcB-
= 1| 22 |5z 45 |18 10 | o
BT30-FMC27 - 45 | 3 | 27 45 | 70 | 20 12 | - | - | M12
BT40 B
CODE FICI R O L D H WHRCRECIENG
BT40-FMC22 - 75 75
100 1 100 - | _ |Hes-
125 22 g5 45 |18 10 M10
150 | 2 150 50
BT40-FMC25.4 - 75 75
100 100 | . |Hes
Tor | 3| 254 |5 68 |20 9.5 e
150 150
BT40-FMC27 - 75 75
=100 100 | _ | _ |HecB-
w3 27 5| 68 |20 12 ree
150 150 |
BT40-FMC32 - 75 75 | | _ [HeB-
Eomm 2 32 o5 83 |22 14 | g
BT50 T
CODE EICH G o e [ | D H W (e ] G
BT50-FMC22 - 60 .| 60 | .
-105 105 |
150 150
-200 22 | 200 | 45 | 18 10 = || M
250 | 2 250 60
-300 300
-350 350
BT50-FMC25.4  -150 150
-200 200
250 | 1 | 254 [ 250 70 | 20 85 | = | = [KEE
-300 300
-350 350
BT50-FMC27  -105 105
150 150
-200 200 | _ | HeB-
250 | | 27 0] 0 |20 12 M2
-300 300
-350 | 350 |
BT50-FMC32  -150 .' 150
-200 200
-250 1 32 250 | 85 | 22 | = | = ?ﬁ%‘
-300 300
-350 350 |
BT50-FMC38.1  -150 150 |
180 |' 180
200 | 1 381 | 200 | 85 | 22 159 | - | - |HC&
-250 250
-300 300

T U A AHENIT LY B

EL=LET. Special size is available upon request.

S—N</mXNAHN ON4

=
>
)
m
=
=
=
>
b
o
o
D




\ FMP 75> 37—/ (8% fERamTE)

: -—J PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING)

T E—=2AN—FAIFR—IHEaRE ! (F7a)
o {t VYT O L. B L.

This tool helps to produce high flatness, high accuracy work.
ot EIFED SR HIFEE A EH L LY. No andulation on finished surface of work.
o RRIOFEEE IS, All ground tool body.

@)MHN‘-HLJ

T
— ¢ Fr AL EINT THNT RS D 4EHE. Work well for deep cutting, and high feed cutting.
L) * FERIME & B AR, High rigidity.
Z
2 i U |
224 [N § , HeB
7 L o o TS
| M == ';"_'if)l 4o =38 -
A -5 .
i BT40 e
= CODE D L1 L2 [ H [D1] K [ W [CLAMP.BOLT| .
o) BT40-FMP16 150 - 40 L& 150 | 123 | .| 35| 5 | g | HCB:
m -200 - 40 200 | 173 | M8 x 35
= BT40-FMP22 150 - 50 150 | 123 P ‘
@ 200 - 50 - 200 | 178 | g 5 | 10| HCB-
5 BT40-FMP22 150 - 63 150 | 123 on ‘ M10 x 35
200 - 63 200 | 173
BT40-FMP25.4  -150 150 | 123
00 254 500 T 175 ] 22| 60 | 5 I9.5‘ MBA-M12
CODE DIERIE] L2 H [ D1 ]| K | W [ CLAMP.BOLT
BT50-FMP16 - 90 - 40 90 52
120 - 40 120 | 82 | HCB-
150 - 40 6 450 [ 112 1 16|38 | 5| 8| Mgxas
200 - 40 200 | 162
BT50-FMP22 150 - 50 150 | 112
200 - 50 200 | 162
250 - 50 250 | 212
-300 - 50 300 | 262 48 | 5 =
350 - 50 350 | 312
-400 - 50 400 | 362 |
-500 - 50 o 500 | 462 | g | 10 | HCB-
BT50-FMP22 150 - 63 150 | 112 M10 x 35
200 - 63 200 | 162
250 - 63 250 | 212 |
-300 - 63 300 | 262 60 | 5
-350 - 63 350 | 312
-400 - 63 400 | 362
500 - 63 500 | 462
BT50-FMP27 -200 200 | 162
-250 250 | 212
-300 300 | 262 HCB-
-350 27 380 | 312 | 20| 73| 6 |12] Mmi2x3s
-400 400 | 362
-500 500 | 462 B
BT50-FMP25.4  -200 200 | 162
250 250 | 212
-300 300 | 262 |
5 254 255515 122 |60 | 5 | 95| MBAMI2
-400 400 | 362
500 500 | 462 |
YA AEEC LY BV L £Y.  Special size is available upon request.

A -AN—F IR OTRAEIZERICCOH) EHFEMVET. Dy 2@ RILMID Yy EX—D—OBEFRI bEZERIEEL.



FMP 75 7—)\ (8B FEREMIA)

@

PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING)

FMP YA Kby a@E7—/\

SIDE CUTTER ARBOR (FMP)

CODE D L1 2 [ H [ DI ] K CLAMP.BOLT
BT50-FMP22.225 -150 - 50 150 | 112
200 - 50 200 | 162
250 - 50 250 | 212
300 - 50 300 | 262 47 | 4
350 - 50 350 | 312
-400 - 50 400 | 362
500 - 50 500 | 462 HCB-
BT50-FMP22.025 150 - 63 | 22225 l_l_s_g_ 112 | 18 8 | Mi0x35
200 - 63 200 | 162
250 - 63 250 | 212
300 - 63 300 | 262 60 | 4
350 - 63 350 | 312
400 - 63 400 | 362
P 500 - 63 500 | 462
BT50-FMP31.75 -150 - 80 150 | 112
200 - 80 200 | 162
250 - 80 250 | 212
300 - 80 300 | 262 76 | 7
350 - 80 350 | 312
-400 - 80 400 | 362
500 - 80 500 | 462 HCB-
BTE0-FMP31.75 150 100 | °'7® 150 | 112 | ° 127 M16 x 40
200 -100 200 | 162
250 -100 250 | 212
300 -100 300 | 262 96 | 7
350 -100 | 350 | 312
-400 -100 400 | 362
500 -100 500 | 462
BT50-FMP38.1  -200 -125 200 | 162
550 125 | 381 | 250 | 212 | 34 | 98 | 9 159 MBA-M20
300 -125 300 | 262
2 8= A=A WA= T RGRIERI (-OH) ERERVET, Hy ZBFATAN MNEH Y 8 X—H—DREF M ZRA ZEL,

CODE CLAMP.BOLT
BT40-FMP27___ -105 - 50 105 | 78
50 - 50 | 27 [ 150 | 123 | 20 | 48 | 6 | 12 | 5 a5
200 - 50 200 | 173
CODE O L T e B B CLAMP.BOLT
BTS0FMP27 105 - 50 105 | 67
150 - 50 150 | 112
200 - 50 200 | 162 HCB-
550 - 50 | 27 [260 [ 212 | 20| 48| 6 | 12| Mi2x35
300 - 50 300 | 262
350 - 50 350 | 312

WEHY 1 X 2mET7 —/MBT (BB RS S BEVE LET.

S—N\AIN dNE

2
€
z
)
m
>
o)
1)
o
o




-
=
o
Z
Z
<
%
o
7
A
Z
b
>/
E
b
!
c
Z
o)
m
>
by
o
o)
3
%
e}
z

(V) FMP 7531452509 ay
- PLUNGE ARBOR EXTENSION
I%Eﬂ.—shn:l: JaqA 27—/ FMPR

¢ RRREOMIT. 7—NDREHND LBV BVFICHHZERIENEZLET,

This extension will add extra length for tool easily.

= = I
_HI . CLAMPBOLT
Kl | o i
el
5 | )
t:T gi‘_j i — El_b = h.
L~ |F—ao 2 _E::I__TLJ."_ .
‘ L Ll H]
CODE d L [ D] HJ]K]W]HI]KI][WI[CLAMP.BOLT
FMP22-0D48 - 50 50 | 4o M10 X 80 -
100 100 M10 X 130
oD e 22 e . 18 5 | 10 | 20 | 6.3 |10.4 “MIOX B0
100 100 M10 x 130
FMP27-0D73 - 50 50 ' M12 X 80
= 27 ool 73| 20| 6 | 12|23 | 8 |124 5 o
FMP22.225-0D47 - 50 50 | .- M10 X 80
100 100 M10 x 130
DR OE i 22206 = 18| 4 | & |18 | & | B4 s oamt
100 100 M10 x 130
FMP31.75-0D76 - 60 £0 e | M16Xx95
120 120 M16 x 160
ooEEs cor | ST o 30| 7 (el 82| B (2 ne s e
120 120 M16 X 160

WFHEY A AEEXICEYRELVZLET. Special size is available upon request.

. ; 3
FMH shZeiRE0 7 7—/\ &%VUE)

LIGHT WEIGHT HOLLOLW TYPE ARBOR (HIGH FEED CUTTING)

BTSO-FMH B

CODE D [LI[L2][H][DIi| K] W] Kg |CLAMP.BOLT

BT50-FMH22  -250 - 63 250 | 212 68 | |,

300 - 63 | 22 [300[262]| 18|60 | 5 |10 [ 74| HOB

350 - 63 350 | 312 80 |
BT50-FMH22.225 -250 - 63 250 | 212 68 | o

300 - 63 | 22.225[300(262| 18 |60 | 4 | 8 [74 | HOB

350 - 63 350 | 312 8
BT50-FMH31.76 -250 - 80 250 | 212 87

300 - 80 300 | 262 76 | 7 o7 ]

350 - 80 350 | 312 [107] Hce-
BT50-FMH31.756 -250 -100 | '/ 250 212 S0 12319741 M16 x 40

300 -100 300 | 262 96 | 7 12.9

350 -100 350 | 312 14.4
BT50-FMH38.1  -250 -125 250 | 212 12.0

300 125 | 381 |300262| 34 | 98| 9 159136 MBA-M20

350 -125 350 312 15.1

T EA=AN—=F 1 IIF=IORAwIEERICCOH) EEERMVET. Dy aBRUFRLMIAY R A—-H—DEEFRI b E ZERLEEN



@

STRAIGHT SHANK FACE MILL ARBOR

=Y TF I T CRASTIESUN,

Please use with milling chucks.

* BERIBRTESESARER T — 7 ISHIS.

Plenty types are available for various types of workpieces.

V) ST-FM ZbL—bo 4> ZTARINTF—/N

= CODE ®d | oD |®#D1| L L1 H W ®C a

ST32-FM16 - 70 70
150 16 32 [150] 15 | 16 | 8 = | Hoe

200 200
ST32-FMC22 - 70 70 =
150 22 45 [150| 16 | 18 | 10 - || 598

200 200

ST32-FMC27 - 70 70
150 27 4p | 48 150 20 | 20 | 12 ~ | poE

200 200

ST32-FM22.225 - 70 70
150 22225 a5 [150 | 15 | 18 | 8 = | HeB"

200 200
ST32-FMA25.4 - 70 25.4 50 | 70 | 16 | 22 | 95 33 _"I’\"AE;"%
ST32-FMA31.75 - 70 31.75 60 | 70 | 20 | 30 | 127 a8 | Hoe
CODE @ d ®D | ®#D1| L L1 H w ®C G

ST42-FM16 - 80 80
150 16 32 (150 15 | 16 | 8 - | HeE

200 200

ST42-FMC22 - 80 80
150 22 45 [150 | 16 | 18 | 10 - | Hee

200 200

ST42-FMC27 - 80 80
150 27 48 150 | 20 | 20 | 12 » z?g

200 200

ST42-FMC32 - 80 80
150 32 42 | 65 [150 | 20 | 22 | 14 = || HEE

200 200

ST42-FM22.225 - 80 1 80
150 22225 a5 [150| 15 | 18 | 8 - || Hag

200 200

ST42-FMA25.4 - 80 80
150 25.4 50 [150 | 16 | 22 | 95 g || a8

200 200

ST42-FMA31.75 - 80 80
150 31.75 60 [ 150 | 20 | 30 | 127 ag | MER

200 200

WY Ao L YRELEL£9 . Special size is available upon request.

3
i
=
2
~
L
|

l
2
¥
>
.9
7
an
1
2
I
T
A

HO84HV T1IW 30V4 MNVHS 1HOIVHLS




S—N—RN4Zz< > VAH

ﬁ
o
=
7
=
m
1
>
o)
1)
(e}
i

.QMD'HMA A BRAZ—F—/\ (E¥25—~v KA

“/ HEAD MASTER ARBOR (FOR MODULAR MILLS)
¥R Features

¢ ERPEHAOMIICEOTHERERMNICH EVZLET.

ey R TIREENES.

¢BT.HSK>+ > 27—/
Ya—=bMA A5/ TYLXETCINSA TV,

Less interference to workpiece and jig by using long and slim type.

BT

Head can be changed easily.

¢ FHEOB ETEEZENILTHEMRL TWEETET.

High rigidity due to minimum projection length.

55

BENY RA—=h—
SECO AVEXRE—AY K
SANDVIK E¥aS—aasl
FATzY b EFET=Y B
=EIFUTN AOYa—A Y=l
By —JL EPa5—3)
1 AAHN JNFIAB—ERRL

fF, i_:j MRS IR (R Y XEA > OR) HR L THNE
fony K& BB ET,

4 O
CODE MY+ X d dR&
HMAS8 M8 85
HMA10 M10 ®»10.5 9
HMA12 M12 »12.5
HMA16 M16 »17.0

BT30 R

CODE L L1 M D D
e 5 G5 Ms el 3511
e e e TR A
S - = 2 23 M16 29 32

= PR =3

CODE L L1 M

BT40-HMAS 45 45 18 016
-85 85 58 M3 145 0205

BT40-HMATO - 45 45 18 20
-85 85 58 W10 2185 $24.5

BT40-HMA12 - 45 45 18 625
S5 85 58 M12 0235 $29.5

135 135 108 T 0348

BT40-HMAT6 - 45 45 18 632
~ 85 85 58 M16 029 035

135 135 108 $40.3




HMA AY RARX—=7—)\ (E2217— Y RA)

HEAD MASTER ARBOR (FOR MODULAR MILLS)

@MENRD

T T -

_._

CODE L L1 M D D1 =T
BT50-HMAS8 - 85 85 47 ®19.4 =
-135 135 97 Mg itaR ?24.6 >
BT50-HMA10 - 85 85 47 ® 20 A
135 135 97 i i $286 W
BT50-HMA12 - 85 85 a7 ?25 N
-135 135 97 ¢33.6 Y
185 185 147 M12 ®23.5 ¢ 38.9 A
250 250 212 045.7 2
-300 300 262 $50.9 I
BT50-HMAT6 - 85 85 47 32 ¢
135 135 97 $39.1 | ll\‘
P 185 185 147 M16 ¢ 29 0444
250 250 212 $51.2 o
-300 300 262 ¢ 56.4 m
o
=
HSKG63A .. @
CODE L L1 M D D1 i
A63-HMAS - 45 45 19 ?16 >
- 85 85 59 ME gae $20.6 =
AB3-HMA10 - 60 60 34 ® 20 o)
- B85 85 59 M1Q @188 0246 2
AB3-HMA12 - 60 60 34 ¢ 25
- 85 85 59 M12 $235 $29.6
135 135 109 ¢ 34.9
A63-HMA16 - 60 60 34 =
- 85 85 59 M16 ® 29
135 135 109 ¢ 40.4
- .
HSK100A s
CODE L L1 M D D1
A100-HMAS8 - 85 85 50 0197
135 135 100 M8 P1AS 0249
A100-HMA10 -85 85 50 ?237
135 135 100 M10 9185 $28.9
A100-HMA12 - 85 85 50 0287
135 135 100 ?339
185 185 150 M12 $235 ®39.2
250 250 221 | $466 |
-300 300 271 $51.9
A100-HMA16 - 85 85 50 ¢ 34.2
135 135 106 ¢ 40.1
185 185 156 M16 ® 29 0453 |
250 250 221 $52.1
-300 300 271 0574

WY+ X 2@mH 7 —/MBT (BBT & iC LU BELE L &,

Special size is available upon request.




=
>
&
A
k
L
|
y
7
A
22
7/
N
/.
K
~
74
4
|
4
|
VA
)
2
>
o
3
w
=
Z
=
ar
T
o
=
:
>
o
m
o
o

STRAIGHT SHANK HEAD MASTER ARBOR (FOR MODULAR MILLS)

) 35 &% Features
e REPBROMIICHEOTHERZRENICHENELET,
L ey R TITREENES.
j Head can be changed easily.

e FHOB. BTHREEBMILTERLTWELETET.

High rigidity due to minimum projection length.

BENY RXA—H—

(V) HMA-ST AbL—by 4 AYKTRE=P=/1 (EY25-A A

SECO AERALZ—~YFK
SANDVIK Trag-—oash
AT T~y F
=FwTFUFIL AZVa—a2Y—)b
Hirw—JL £ 3 5—2)

1 AHhI RIWFITAI—%[REL

BESHBE (R YA XA 2 OR)HE U Thhd

iy K& ZRAW T ET.

= ' = =] "‘f%;
ST s |
. chE FIG D2 L1 L2 L3 P DD
ST16-HMA -150 150 | 120 | 30 '
ST20-HMA10 -150 150 | 120 | 30
-200 1 ®20 [ 200 | 150 | £, - M10 | ¢18.5 -
-250 250 | 200 .
ST25-HMA12 -150 150 | 120 | 30
200 | 4 | o5 (200 1150 | 59 | - | mi2 | 0235 | -
-250 250 | ,qp |
-300 300 100 |
ST32-HMA16 -200 200 | 160 |
-250 1 $32 [ 250 | 504 - M16 | ®29 -
-300 300 100
ST42-HMA16 -400 ; ®42 | 400 | 150 | 250 | 30 | Mi6 | 629 | 6405

WiEHY A XHEXIC LV EEL L E . Special size is available upon request.

HMA EEI RISy &

CHAMFERING ENDMILL CUTTER

HEHE I K3 ILAH w4 (Chamfering Endmill Cutter) WAL A
- %085& FIG g 2([)) 31 T G F w7 Insert HolderN .
| HMA8-C8-45 1 1 5 M8 BT.HSK.ST-HMA
HMA10-C20-45 | 20 | 321 | 105 390 Mio | SCMTO9T308 | Br'HSK'ST-HMA10
HMA16-C30-45 30 | 466 | 17 | 40 | M16 | SCMT120408 | BT.HSK.ST-HMA16
fo8 Fv 7 (Insert) EAH Y R
A B w (I A 17| %> Screw | L~ F Wrench Cutter
2 H 4 [TSCMT09T308 |9.525, 3.97 | 7° | BFTX0409N TF15 HMAS.HMA10
2 SCMT120408 | 12.7 | 476 | 7° | BFTXO511N TF20 HMA16

-

WY o ZAEEC S U BREWZ L&Y . Special size is available upon request.




HMA-SCA X&' )= 7RIV
METAL SAL CLAMPING BOLT

| ¥54% Features ¥
e AR N TEHX 2V —DEHIHE.

Various types of metal saw can be mounted
with special mounting bolt.

| WRESRL MERTEIEIOTSHERE A R
PITHEAUPLE L ET . g _-
Special thin-head bolts create less interference ‘ A

anincrease production. '

'y

i R = (METAL SAW CLAMPING BOLT) BAZOY b BRI A
e —ﬂ CODE Di |[D2] M E ] SLOT Holder
G == FMA 8 -SCA12 12 165/ M8| 5 | MSSH-32 |BT.HSK.ST-HMA 8
| HMA10-SCA13 13 121 IM10 6 | MSSH-40 | BT.HSK.ST-HMA10
L HMA12-SCA1587 15875 26 Mi12| 8 | MSSH-50 | BT.HSK.ST-HMA12
HMA16-SCA254 | 254 | 40
HMAT6.SCA31.75 3175 | 46 |M16| 10 BT.HSK.ST-HMA16

WiEH Y ZEEvIc L URHEWE LEF . Special size is available upon request.

F)
=
=
b
>
x..
5
Vv
\
|
7
“y
>
e
y] 7
h.
=
3
o
z
=
>
=
T
o
(0]
)
o:
=

P
- =
—— ‘
MSSH €225 —AO0Y bV &
MODULAR SLTO CUTTER
I 45K Features
e Ay RY AR —7—/NICEfHF ISR IR BRI
Modular head style with HMA arbors will help your cost reduction.
o TR OFHHESIMNINRHSUPWVZLET.
| No interference in front area. so machining efficiency will be improved.
) Uy KAy RTHIHERTHEL O TRFED.
i Solid head is reusable by regrinding. Ecological and economical.
| ¢ O—fF44 70y 2 EEBLTEBME. EEY BEDER.
| Higher rigidity than brazing type cutter, so better surface finish.
o P EEE M DIEE ISR OB RE T KK,
| Newly-developed tool edge design with very high cutting-chip discharging.
| o Bt - BREOERAI—F 1~
L SOERTEEGMTiARSAE (MODULAR SLTO CUTTER-SH) {No.of Teeth) HWAAIL b
. CODE D[T] d W [ H%& CLAMP BOLT
- UP L\eL &, MSSH-32-15 5]
Long lifetime, due to special coating 50 2'0
with high heat-resistance and '25 32 2'5 12 3 6 HMA 8 -SCA12
hardnes_s. Machining efficiency will :30 3-0
be drastically improved. ~ » | MSSH-40-20 20
28 401231 13 (45| 6 |HMA10-SCA13
-~ -40 40
P 3 . ~ 4 MSSH-50-20 2.0
e - y (0 | NSV -25 25
<IN Q e L AT 30 50 30 15.875| 6 8 HMA12-SCA15.875
X | 40 4.0
. , (MODULAR SLTO CUTTER-RH) (Noof Teeth) wAAN b
s = CODE DE|ET: d W pSEL CLAMP BOLT
MSRH-32-0.75R [1.5
; L LOB 13222 12 | 3| 6 |HMAB-SCA12
-1.5R 3.0
5 ..~ |WMSRH-40-1.0R [2.0
'* j@i 125R 4053 13 |45 6 HMA10-SCA13
L | N=~A -2.0R 4.0
1 [™ MSRH-50-1.0R 2.0
Lo 125R |50 122115875 6 | 8 |HMA12:SCA15875
e L o | 20R 40 f |

WY ZEEIc LY BELE LET . Special size is available upon request.



S—NR e S7AG VOS

2
o
m
%
B
>
s
o
(®]
1

N SCA ¥4 KB a7—/N

© SIDE CUTTER ARBOR

I * BRBERTEMS ML D — 7 TS,

Plenty types are available for various types of warkpieces.

CODE FIG | od B [EDR R EWE H2 [ H3 | O
BT30-SCA12.7 - 60 12.7 20 | - 112117 | 15 | 20
SCAI5875 - 60 | , | 158756 | . | _ | 26| . [318| 13 | 23 16 26
SCA22.225 - 60 22,005 34 3.18] 18 | 30 | 21 | 34
SCA254 - 60 05.4 40 635 21 | 32 | 25 | 40
CODE FIG] ¢d | L |1 |DJ]C 6 H|WIHI[R2[A3]C]
BT40-SCA22.225 -100 | 2 100 - |
150 22225 (150 | _ |34 (396 318/ 1830 | 21 | 34
200 200 44.8
BT40-SCA25.4 -100 | 2 100 - - . | |
Js0 1] 254 [isol70%m7] 2| [695]21|%2| 25|40
BERSCaSIR 10| 5 | gywe [100] _ 45| _ | - 792/ 26 | 41 |30 | 46
150 150 | il P |
BT40-SCA22  -100 | 2 100 - -
150 22 [150| _ 734396 6 1830 | 21 34
200 200 44.8
BT40-SCA27  -100 | 2 100 - : | =
- SRRk Bt i 7 |21/32 25 40
BT40-SCA32  -100 100 1
18— 2| s 1 46 8 |26 4130 46

BH>—(6.10.20) 4w b.F—{1&. Comes with collar (5.10.20) nut and key.
WEHY 4 Addic L YR LET,

Special size is available upon request




>

(V) SCA #1 KBy 27—\

SIDE CUTTER ARBOR

=3 =]e) .

CODE FIG] ¢od Lt b cJe]H]WIJHI[H2]H3]C1

BT50-SCA25.4  -150 150 48.6
200 200 556 ..
5 1 25.4 250 50 | 40 o1 4 6.35/ 21 |32 |25 | 40
-300 ' 300 69.6

BT50-SCA31.75 -150 150 154.6 ,.
-200 200 616 .. | 30
= 1] 8175 551 50 46.68_8 4 7.92/ 26 | 41 | 30| 46
-300 300 75.6

BT50-SCA38.1  -150 i 150 59.3
-200 1 381 |200| 50 |55 [628] 2° 952/ 31|46 |36 | 55
250 | ' 250 66.3

BT50-SCA50.8 -100 100
-150 2| 508 [150| - |72| - | - |40|127|45|55 |48 |72
-200 200 |

BT50-SCA27 -150 1 150 | 1486
-200 200 556 ,.
= 1 27  5egl 50 |40 reo] 4 7 |21|32(25|40
-300 300 69.6

BT50-SCA32 -150 150 54.6
-200 200 616 ,. 30
550 1 32 250 50 |46 fea'a 4 8 |26 4130 46
-300 300 75.6

BT50-SCA40 -150 150 59.3
-200 1 40 [200 50 |55 628] 2° 10 31|46 36 55
250 250 66.3

BT50-SCAS50 -100 100
-150 2 50 [150| - |72| - | - |40| 12 |45|55|48|72
-200 200 ‘ .

BH>—(56.10.20)F v b F—{1&,

Comes with collar (5.10.20) nut and key.

BT 7 AEEICL)EHENZLET . Special size is available upon request.

ST-SCA Abb—=b2v27 Y14 RBY ZT7—N

STRAIGHT SHANK SIDE CUTTER ARBOR

CODE ®D D1 | D2 | L H G
ST32-SCA15.875 - 30 15.875 26 16| 3.18 | M14 x P15
ST32-SCA22.225 - 30 22225 32 34 | 120 | 21 | 318 | M20x P15
ST32-SCA254 - 30 25.4 40 25 | 6.35 | M24 x P2.0

CODE ®D ®D1 | #D2 | L H W G
ST42-SCA15.875 - 30 15875 | 26 | 16 | 318 | M14 x P15
ST42-SCA22.225 - 30 22225 42 | 34 | 120 [ 21 | 318 | M20 x P1.5
ST42-SCA254 - 30 25.4 40 25 | 6.35 | M24 x P2.0

EBHZ—(5.10.20) v b F—{1&.

Comes with collar (5.10.20) nut and key.

WY A8 EYBENELET . Special size is available upon request.

SN e 7ZAG VOS

0
O
m
(o]
.
m
)
>
o
o
(@)
X0




(W) MMC 3INTysR 3—UvsF vy

" MILLMAY MILLING CHUCK

Eisti=va
CMBLAZBMO-_—RFIO-FERIMEEFHOEVELD
ICEBRLEARDOG rPIOBICT —N—Z T =F v v
7 OBE H1£500Kg-m.
A combination of increased number of needle rollers and 6

: tapered grooves inside of the chuck body exerts 500kg-m
chucking force.

WERAE
e FywI0OxTH S 150mmAENHICT 10 u Z{REE.

M Engagement of nosepiece with chuck body creates uni body

I
¥
i
[

structure and increases rigidity tremendously.

| FFin

s 70LEBIVTTFEEHT 5.
CHBHPAERAROY JEOMNIEZE L T.REGAZ(RIL.

Highest quality material: Nickel chrome molybdenum steel, -~
hardened and sub zero treatment guarantees long life.

=
=
(@)
I
<
)
2
A
T
Y
4
7
7
.-v
Y
Vi
=
E
%
=
E
z
o)
o)
i
c
(@)
A

CODE ¢d L D H G
BT30-MMC20 - 75 75
- 20 & 52 67 M18 x P1.5
CODE od L D H G
BT40-MMC20 - 90 90
o 120 120
== 20 5 %2 67 M18 x P1.5
-200 200
BT40-MMC25 - 90 90
120 120
= 25 s 60 80 M18 x P1.5
-200 200
BT40-MMC32 - 90 90 |
105 105
120 32 | 120 73 87 M18 x P1.5
150 150
-200 200 |
BT40-MMC42 __ -120 42 120 93 90 M22 X P1.5

HaOLy b LFEIEBLTEYEEA, JEERD {ZEL, FllEP28



MMC SNy IR I=VJF¥V)

MILLMAR MILLING CHUCK

CODE od L D H G

BT50-MMC20  -105 105 =

-150 150 ] =

-200 200 @)

SES 20 == 52 67 M18 X P1.5 N

-300 300 | L

-350 350 <

BT50-MMC25 -105 _ 105 i

135 135 7

-150 150 A

-200 25 200 60 80 M22 x P1.5 3

250 250 I

-300 300 1)

P -850 350 >

' BT50-MMC32 -105 105 9

-120 120 | G

-135 ‘ 135 ¢

-150 150 5’
-200 200

56 32 250 73 87 M22 x P1.5 g

-300 | 300 =

-350 350 =

-400 400 >

-500 500 x

BT50-MMC42 -105 105 §

-120 120 =,

-135 135 g

-150 150 o
-200 200

S 42 55 93 105 M22 x P1.5 c

-300 300 A
P -350 350
L -400 400
-500 500

WMLy b LFIIABLTEY EEA. BiEROLES L FlIZP28
WY AE LY e LEY . Special size is available upon request.




=

|

MC AL—babL vy b

I STRAIGHT COLLET

L @MANAD

- 1S 4 B e e

O I =
S} S S)
% I '
2 ]
ll; CODE od D E
| MC20- 6. 8. 10. 12, 16 20 53
N MC25- 6. 8. 10. 12, 16. 20 25 60
| MC32- 6. 8. 10. 12, 16, 20. 25 32 65
L MC42- 6. 8. 10. 12, 16. 20. 25, 32. 40 42 . 80
W BEHET A A ECKYBHENEZLET. Special size is available upon request.
b
@
X
> -
g MC42-40
8 o=y o l %
< MC-MT 7—/\A)—7
il TAPER SLEEVE
J
ARE=
S L mr/ || H
CODE MT D
MC20-MT MT1 o 20
MC32-MT MT1. MT2. MT3 32
MC42-MT MT1. MT2. MT3. MT4 42 -~

LF

WRENCH

CODE LENGTH | CHUCK
FS-20 210 MMC20
FS-25 240 MMC25
FS-32 270 MMC32
FS-42 270 | MMC42




(V) 2=~ boA TRBRY

ADJUST SCRELJ FOR COOLANT TYPE

ﬂ/"“J77‘y7°7~7U.1—
. BACK-UP SCREW 27
|
CODE d D I H g
M18-SN5 .. | 5 | 60 | 35 |
SN11 MISR=LS 70 |80 | 25 | = s - I’f
M22-SN5 5 | 70 | 45 . 7
SN M22P=15 | 11 | 60 | 35 | 25 ] 5
-SN18 18 | 50 | 25 2 =
S - e O
J il E
—— 5
7
g
] D=2 b=y BRINY G P9 TRT" ) a— e
| BACK-UP SCREW W/COOLANT SEAL =
o
CODE d Db G REL R o
M18-CP9 Migp=1s5 |9 | 50 | 25 | 25 | =
-CP15 ® 15 |30 | 6 | 24 | L 3
| M22-CP9 9 [ 603 | .| 4 . . ) By
CP15 M22P=1.5 | 15 | 45 | 20 o 8
-CP19 19 | 30 | 6 | 24 e
P F— — i >
J E Z o N E
.! _ - g n&\i:/' j
_ | <
Vil A2 m
Resin Pad
ﬁ SBERNYOTYTARIV) 21—
| BACK-UP SCREW FOR HIGH PRESSURE
CODE d D L H h [O-ing
HRMS11 MITP=10 | 8 | ,o | 25 | N4 L
HRMS15 M15P=15 | 12 | 4o LB _[FE
HRMS18 M18P=15 | 15 | .o 4 [ Po H h
HRMS22 M22P=15 | 19 | 5 [Pi2

d
-
i




(M) MRC Ly bF v ok g
=4 COLLET CHUCK HOLDER
AN EREILY b FY VT,

Long life. Precision collet chuck,
e yO% Yy 7REMS.
Can be used for Synchro tap.

*BNTVART A BREBERDR T « NF U A RNLEROMEIMI 2L THEYET.

g Pre-balanced symmetrically for higher R.P.M.
X0 o F A WR— I3 RTHE,
(@) Coolant through body.
G
| .= L )
L
W | \J]
E === 0 i i
‘v I | |. :|._| = ,J_‘ | -l O
3 I L
74 FIG!
VIR C L
) : N\ o
g B = —"-——..; | ‘S
q ~ R
D oy
= . = jr H ==
o == S
E FIG2 o )/ L H |
oY
C
Q
A
e ]
(@) = - _
E CODE FIG ¢d E D G
m BT30-MRC10 - 75 75
i 100 05~ 100 —166—— 28 M11 x P1.0
BT30-MRC13 - 75 75
100 ; 1.0~13.0 100 | 35 M15 x P1.5
BT30-MRC16 - 75 | 75 '
100 1.0~16.0 100 42 M18 x P1.5
BT30-MRC20 - 75 75
100 2.0~ 200 100 50 M22 x P1.5 -
BT40 B
CODE FIG ¢d L D G
BT40-MRC10 - 75 75
-100 100
150 05~100 T 28 M11 X P1.0
-200 200
BT40-MRC13 - i’h 75
-100 _ 100 _
150 1.0~13.0 .—-——150 = 35 M15 % P1.5
-200 1 200
BT40-MRC16 - 75 75
-100 100
150 1.0~16.0 - T 42 M18 x P1.5
-200 e : 200
BT40-MRC20 = 75 75 _
-100 100 :
150 2.0~ 200 150 | 50 M22 x P1.5
-200 200

Ty bIBEBLTOETY. QLY ML FRAETEEEL. P32
Comes with collet nut, purchase collet & wrench separately.



(

M)) MRC Ly b F+v Y

STANDARD COLLET CHUCK

CODE FIG od L D
BT50-MRC10 -150 1 150 ) ) -
200 200 =
-250 05~100 | 250 | 28 ' M11xP1.0| 50 | 12° :cg
-300 2 300 71 12° | 160
-350 350 70 | & -
BTBO-MRC13 150 150 L
200 | 1 200 | . - 7 4
250 1.0~130 | 250 | 35 | M15x P15 a";
-300 5 300 558 | 12" | pyg 0
-350 1 350 62 8’ v
BT50-MRC16 -150 150 Vs
200 ] 200 B ) )
-250 10~160 | 250 | 42  M18 xP1.5 )
-300 300 B
350 | 2 350 61 | 12° | 260 =
BT50-MRC20 100 100 >
-150 150 8
200 200 )
= 1 | 20~200 55— 50 | M22x P15 E
-300 300 m
-350 350 o
Hry MEHBLTOESTHA. Oy b L FEIETECEEL, P32 T
Comes with collet nut. purchase collet & wrench separately. g
x

LF

IWWRENCH
v/
CODE L L
MRS-10 | E16P | 145 | MRC10 - Hi-Q - ERB16
MRS-13 | GS30 | 172 | MRC13 - Hi-Q - ERB20
MRS-16 | E25 | 210 | MRC16 - Hi-Q - ERB25
MRS20 | E32 | 250 | MRC20 - Hi-Q - ERB32

= b= FERBRY

BACK-UP SCREL W/COOLANT SEAL

WEY HAENE ——=
CODE d D L H h | Holder Size
MRMC11 MI1P=10]| 9 | 15| 10 | 25 MRC10 L
MRMC15 | M15P=15 | 12 | 18 ~ MRC13 <
MRMC18 M18 P=1.5 | 15 19 13 MRC16 H h
MRMC22 | M22P=15 | 19 4 MRC20
&) i= =t Q
N
fitfg/ v

Resin Pad



=
)
(@)
I\
1%
E
=]
L
Y,
b
=
9]
1)
(@]
)
B3
m
Q
1]
o
z
@)
o)
i
I

|

| MRC /MERfEZILY b

=1 MICRO PRECISION COLLET

I#8/MNEI/O0K 7L M MICRO BORE COLLET

TOOUMG SYSTEM

@MEN

& mm MRC5-MB MRC7-MB
0.2 MRC5-MB02 MRC7-MB02
0.3 MRC5-MB03 MRC7-MBO3
04 MRC5-MBO4 MRC7-MB04
0.5 MRC5-MBO5 MRC7-MB05
06 MRC5-MBO06 MRC7-MBO6
0.7 MRC5-MBO7 MRC7-MBO7
08 MRC5-MB08 MRC7-MBO8
0.9 MRC5-MBO9 MRC7-MB09

Ty

WFUOBOH I 7 TEIBEERLIEVELEA.
Only available in exact size, between sizes are not available.

U/WNEOLY M SMALL DIA. COLLET

5

MRC5 MRC7
T HiBiR THERR ZEHR AR S
Standard collet Precision collet Standard collet Precision collet
0.5 ~1.0 MRC5-1 MRC5-U 1 MRC7-1 MRC7-U 1
1:0:~15 MRC5-1.5 MRC5-U 1.5 MRC7-1.5 MRC7-U 1.5
| 15~20 MRC5-2 MRC5-U 2 MRC7-2 MRC7-U 2
2.0 ~25 MRC5-2.5 MRC5-U 2.5 MRC7-2.5 MRC7-U 2.5
25~ 3.0 MRC5-3 MRC5-U 3 MRC7-3 MRC7-U 3
30~35 MRC5-3.5 MRC5-U 3.5 MRC7-3.5 MRC7-U 3.5
- 35~ 4.0 MRC5-4 MRC5-U 4 MRC7-4 MRC7-U 4
4.0 ~ 4.5 MRC5-4.5 MRC5-U 4.5 MRC7-4.5 MRC7-U 4.5
4.5~ 5.0 MRC5-5 MRC5-U 5 MRC7-5 MRC7-U 5
50~ 5.5 = = MRC7-5.5 MRC7-U 5.5
5.5 ~ 6.0 = = MRC7-6 MRC7-U 6
6.0 ~ 6.5 = £ MRC7-6.5 MRC7-U 6.5
6.5~ 7.0 = = MRC7-7 MRC7-U 7
MRC aL vk
STANDARD COLLET HZED BEL
}:j:.....-’-:-‘mﬁ“_“—‘ 3 MRC10 17 ) 27.5 -
ro— ?‘[ =) MRC13 21 31.5
— nJ MRC16 26 34 |
MRC20 33 40

BEaOlLy hicaERLA2 Yy JHEBILY bEHYET. Also available collet for tapping.

MRC10 MRC13 MRC16 MRC20
B3R §E R Chucking range BB §EF Chucking range 1B{EFEFE Chucking range 03B FEE Chucking range
0.5 ~ 10.0mm 1.0 ~ 13.0mm 1.0 ~ 16.0mm 2.0 ~ 20.0mm
CODE #F=d CODE = d CODE iEd CODE | iE=d

MRC10-1 0.5 ~ 1. MRC13-2 1. ~ 2. MRC16-2 1= MRC20-3 2.7~ 3.
MRC10-2 Lo 24 MRC13-3 2. ~3; MRC16-3 2 5 ~3 MRC20-4 3. ~ 4.
MRC10-3 2.~ 3. MRC13-4 3. ~4. |MRC16-4 3 ~ 4. MRC20-5 4. ~ 5,
MRC10-4 3. ~ 4. MRC13-5 4. ~ 5 MRC16-5 4. ~ 5. MRC20-6 5. ~ 6.
MRC10-5 4.~ 5. MRC13-6 5. ~6, MRC16-6 5 ~ 6. MRC20-7 6.~ 7.
MRC10-6 5 ~8, MRC13-7 6.~ 7. MRC16-7 6.~ MRC20-8 7.~ 8.
MRC10-7 6. ~7T. MRC13-8 7.~ 8. MRC16-8 7.~ 8. MRC20-9 8.~9 |

MRC10-8 7.~ 8. MRC13-9 8. ~ 9. MRC16-9 8. ~ 9. MRC20-10 9.~ 10.

MRC10-9 8. ~ 9. MRC13-10 9. ~10. | MRC16-10 9.~ 10. | MRC20-11 10, ~ 11.

MRC10-10 9.~10. |[ MRC13-11] 10.~11. | MRC16-11| 10. ~ 11. | MRC20-12 10 == 1.2

MRC13-12| 11. ~12. | MRC16-12| 11. ~ 12. | MRC20-13| 12. ~ 13.

MRC13-13| 12. ~13. | MRC16-13| 12. ~ 13. | MRC20-14| 13. ~ 14.

MRC16-14| 13. ~ 14. | MRC20-15| 14. ~ 15.

- MRC16-15| 14. ~ 15. | MRC20-16 15. ~ 16.

MRC16-16| 15. ~ 16. | MBRC20-17| 16. ~ 17.

i MRC20-18| 17. ~ 18.

1 MRC20-19| 18. ~ 19

| MRC20-20| 19. ~ 20




MRC #v73abvhb
STANDARD TAP COLLET

¢ Ly NARICARNERK LY 7RISR0 Y 7
HEAIOLY  NEHEXYE ISR,

Special designed collets for high accurate tapping.
with special square bore in collet 1L.D. to avoid slip during tapping.

(O 5

S

(ER11-GB) (ER16-GB) (ER20-GB) (ER25-GB) (ER32-GB)

=
my)
(@)
2
>
TapSize | d_|LISW| B MRC7 MRC10 | MRC13 | MRC16 | MRC20 =
M3 ~ M3.5 ¢ 4 [ 3.2 6 MRC7-M 3 MRC10-M 3 MRC13-M 3 MRC16-M 3 MRC20-M 3 o |
M4~M45 | 05 | 4 | 7 | : MRCIOM4 | MRC13M4 | MRC16M4 | MRC20M4 L
M5 055 45 | 7 : MRCIOM5 | MRC13M5 | MRCI6:M5 | MRC20M5 I
M6 ¢ 6 45 7 | MRC7-M 6 MRC10-M 6 MRC13-M 6 MRC16-M 6 MRC20-M 6 I\
M7 ~ M8 ¢ 6.2 5 | 8 | - MRC10-M 8 MRC13-M 8 MRC16-M 8 MRC20-M 8 »n
| M9 ~M10 o7 55 8 MRC10-M10 | MRC13-M10 | MRC16-M10 | MRC20-M10 g
(- M11 ¢ 8 6 9 ] MRC10-M11 MRC13-M11 MRC16-M11 MRC20-M11 Z
PT1/8-28 ¢ 8 B 9 MRC10-PT1/8 | MRC13-PT1/8 | MRC16-PT1/8 | MRC20-PT1/8 g
W= M12 ¢ 85| 65 9 MRC10-M12 | MRC13-M12 | MRC16-M12 | MRC20-M12 g
M14 ~M15 | ¢ 10.5_. 8 Tl - - MRC13-M14 | MRC16-M14 | MRC20-M14 -
“PT1/419 | 011 | 9 |12 : : MRC13-PT1/4 | MRC16-PT1/4 | MRC20-PT1/4 >
| M16 ¢ 125 10 13 - - - MRC16-M16 | MRC20-M16 (@)
MI8 | 914 | 11 | 14 : : : MRC16-M18 | MRC20-M18 o
PT3/819 | 014 | 11 | 14 : 5 : MRC16-M18 | MRC20-M18 o
M20 ¢ 15 12 | 15 - - - MRC16-M20 | MRC20-M20 l'_I'I
T M22 017 | 13 | 16 : : : ; MRC20-M22
PT1/2-14 [0} 18_._ 14 17 - - - - MRC20-PT1/2
M26 ~M27 | 20 | 15 | 18 - - \ - - MRC20-M27
#PTEPFv>7EL
OSG rvo%sv7H (ER11-GB)  (ER16-GB)  (ER20-GB) (ER25-GB)  (ER32-GB)
Tap Size | d [IsSwW| B MRC7 MRC10 MRC13 MRC16 MRC20
M3 | o4 3.2 B MRC7-M 3 MRC10-M 3 MRC13-M 3 MRC16-M 3 MRC20-M 3
M4 ~ M6 06 45 7 MRC7-M 6 MRC10-M 6 MRC13-M 6 MRC16-M 6 MRC20-M 6
- M8 ~ M10 ¢ 8 6 | 9 - MRC10-M11 MRC13-M11 MRC16-M11 MRC20-M11
M12 ¢ 10 8 11 [ . MRC10-M ¢ 10{MRC13-M ¢ 10/ MRC16-M ¢ 10/ MRC20-M ¢ 10
M14 | 912 9 12 - MRC10-M ¢ 12/MRC13-M ¢ 12/MRC16-M ¢ 12|MBRC20-M ¢ 12

HEmEBER Mini 7Y b

MINI NUT FOR HIGH SPEED

WAYTHHRILE S
CODE Holder Size
ER-8MS MRC5B
ER-11MS | MRC7B

NMEALY M FYY IR LF
WRENCH FOR SMALL SIZE COLLET CHUCK

B Mini v bB BHETHRILE
CODE Mini Nut Size :mder Size

E8M E8MS MRC5
E11M E11MS MRC7




ST-MRC AL —=b2v27aLb vy MF+ /7

STRAIGHT SHANK COLLET CHUCK

| =Y 0F vy 2. ALy M Fvyy I TERLTWVEEITET,
| REFAOAEHSEHRATE

x)
o
=
48]
O i
A
b
b 1
|
B
o
r
~ CODE FIG ¢d D ¢ D1 L HA1 H2 G
7 ST12-MRC5 -150 1 02~50 12 12 150 _ B M6 x P1.0 S
= ST16-MRC7 -150 02~7.0 16 16 M8 x P1.0
l:' ST20-MRC10 -200 ) 05~10.0 20 28 160 40 |M11 xP1.0
/ ST32-MRC13 _ -200 1 | 1.0~130 85 { e [_= - [M15xP15
;._ ST32-MRC16 -200 o 1.0~ 16.0 32 42 150 50 [M18 xP1.5
_-,‘, ST32-MRC20 -200 20~ 200 50 145 55 |M22 xP1.5
0 Wy bMERBRLTWETH. Oy ML FIERRRIEC S EEL,
MNEHAD Ly SMRCS.MRCTY P32 #iialw MRC10~MRC20 P32
7 Comes with collet nut, purchase collet & wrench separately.
3
> S s
d ST-MRCF AbL—=b2+2 7Ly bFvvy
E,‘ STRAIGHT SHANK COLLET CHUCK
L . G
s hEfg. eI ARILA —
A ESHE RIVINI. ) —< NI IC o, Ql | P o T ES‘
9 =07 |5| -
E =
4 FIG] L
£
= G
%J L] ;/_ e ] |
] s

CODE FIG od D ¢ D1 L H1 H2 G
ST16F-MRC7 - 80 1 02~70 16 16 80 & = M8 x P1.0
ST20F-MRC10  -100 2 05~100 | 20 28 100 62 38 [M11 xP1.0
ST32F-MRC13  -100 1 1.0~ 13.0 35 b - |MIEXx P15
ST32F-MRC16 -120 o 1.0~160 | 32 42 120 80 40 |M18 X P1.5
ST32F-MRC20 -130 2.0~ 20.0 50 | 130 50 |M22 X P1.5

By MEHIBLTOWETS. Oy b L2 FRFRTEL{EZN,
MNERILY RMRCT P32 H®alv RMRC10~MRC20 P32
Comes with collet nut, purchase collet & wrench separately.



(V)] MRT 2y 7Ly bFryy

BT SHANK TAP COLLET CHUCK

YT E—BRRVTRIVE
(70— MEIC &V ERGBRO L FREERIRVELET.)

[Accurate threads are made by the floating mechanism,
compensating pitch error of the machining center spindle.)

‘7-_______-- _[l .-\L I\‘ ] H_i‘_i" -F}r. i ; _I__-—__.H E} T
Al L= =
T ——— _1 !--‘l' - | — — —t
= ABGE
I H1 70—-+&
P,
CODE M D1 H C
BT4OMRT10 _ -105 M3 ~ M10 28
MRT13 __-105 M3~ M14 35 e 10a
MRT16 __-120 M3 ~ M16 42 -
MRT20 __-120 M3 ~ M27 50 -
BTS0MRT10 __ -120 M3 ~ M10 28 -
MRT13 ___-120 M3 ~ M14 35
MRT16 135 M3 ~ M16 42
MRT20 __-135 M3 ~ M27 50 =7 18s

By rESRBLTEYETHA. O Y ML FRBRESELCESL.
vy Falw b L2rF P33
Comes with collet nut, purchase collet & wrench separately.

® € E2—2AN—=Y—=FbFV

NUTS FOR COOLANT THROUGH
(FY hORW]. =) T T 1 AV THRREE 2—AI—)

(Through coolant is available by using coolant nut and sealing disk.)

7 bk (CODE)

=) >9J 5«1 A7 (CODE)

MRT10N-OH

DS/ER16-(M3 ~ M10)

(HI-QERBC16)

By THA ZHRLIEEL,

MRT13N-OH

DS/ER20-(M3 ~ M14)

(HI-QERBC20)

By TYA ZHERSIEZL.

MRT16N-OH

DS/ER25-(M3 ~ M16)

(HI-QERBC25)

2y TYA ZHR<LEELN.

MRT20N-OH

DS/ER32-(M3 ~ M27)

(HI-QERBC32)

2y TYA ZHRRLIEEL.

WIS Y A XS EYEELELET.

Special size is available upon request.

w
_'_..l
5
_I
s
WV
74
a
%
7,
b
o
v
\y
£7
@
(7))
aE
>
Z
P
B
0
(@)
(o]
e
=
b
Q
Ak
=
(9]
A




 ST-MRT AML—=bkv29%2y 7Ly b?v 4 4

STRAIGHT SHANK TAP COLLET CHUCK

NChefg. B MIHEAE v EJRIVA
Xt A—ICHERPTHE

(70— MEBICKYER FTROE Y FREXRRWVELET.)
(Accurate threads are made by the floating mechanism.
compensating pitch error of the machine spindle.)

(77]
o
5
=
7 i
II/ e S
) [ S ) I
T A=Y =} ___JI—.__ ei
g 1 N : J = i
2 ! _HI | | 15 |6 -
v | [ . J0-t+#
= e S—
=
L
W CODE M D D1 | L [INET H2
bk ST32-MRT10 -127 M3 ~ M10 28 | 127 |
7= -MRT13 -128 M3 ~ M14 32 35 128
i ‘MRT20  -153 M3 ~ M27 50 153
Z, ST40-MRT10 -127 M3 ~ M10 28 127
-MRT13 -128 M3 ~ M14 40 35 128 92 60
« -MRT20 -153 M3 ~ M27 50 153
a ST42-MRT10 -127 M3 ~ M10 28 127
o -MRT13 -128 M3 ~ M14 42 35 128
2:' -MRT20 -153 M3 ~ M27 50 163
% By MR LUTEYETH Oy b L FERRESES {FEEL.
> ay7albv b L2F P33
% Comes with collet nut. purchase collet & wrench separately.
B
o
8 -
a4 tERAN—=J—=FVbFVb
Q NUTS FOR COOLANT THROUGH
=
R (Fv bOTHR. S— UG F 1 R THREREY 8—Z—)

(Through coolant is available by using coolant nut and sealing disk.)

7+ b (CODE) ¥—1)>4J 74 2AJ (CODE)
MRT10N-OH DS/ER16-(M3 ~ M10)
(HI-QERBC16) 2y TY A TgERLFEEELN,
MRT13N-OH DS/ER20-(M3 ~ M14)
(HI-QERBC20) 2y 7Y A ZTFERLEZN.
MRT20N-OH DS/ER32-(M3 ~ M27)
(HI-QERBC32) By TYA TR FEEL,

WssERY o AEsd o K EE VLT,
Special size is available upon request.



(V) MTC OV IR LF ¥y o RIS
: ' SUPER LONG SLIM CHUCK HOLDER

5K Features
* FHEZRULFARRAY) LF v v 7Lk,

Less interference with slim body.

* ROFRINTICAREE KL ZERERI A MEIEATHEIC AR Y ET .

Standard drill can be used for deep hole drilling. It helps cost reduction,

* IRBEDIRNAEES umLLF.

High precision. (less than 5um)

* NMBREDE S S LEARENTETTY .

Easy chucking and removing. No expensive special Equipment required.

o T WABETEREUP.

Simple structure, workability improvement.

¢ I NFIIVAIRERME EINTIC R,

Endmill type is suitable for finish die machining.

K, UV—<H

(For Drill and Reamer)

=
3
i)
O
3,
7
2
b,
A
;
¥
v/
7
A
0
4

rFOo—FRILb
l . - (Draw Bolt)
N\ g
% IVRILAE ®
(For Endmill) %
m
o
. _ S o
._‘i ,: ) 7). = I = {J:"-.-’-; c %
I e s | R L I %
B =
. il . I S o B 3 o _ (@)
T
— — =— — — =
i o
I X
B S S 0 o | _ o e — T —————— 7 Tt
= S e i 1Y IS — 4 — . o
- L_— 4 ° =
! — Sk ol b | 3 m
[ e o
MTC L b (Collet) L S . o o i
CODE d H1 CODE d H1
MTC 86| 6 MTC 206 | 6
8| 8 | 20 8| 8 30
MTC 12-6| 6 -10| 10
88| % 2] 12 ] 40
10| 10 16| 16 | #%
IR 20] 20 |
KL, J—<H (For Drill and Reamer) I > K3ILA (For Endmill)
CODE FIGld|[D| L |LI|H |Collet CODE FIGld|D| L |[L1| H |D1|Collet
ST20-MTC 8-150 1150 90 ' ST20-MTC 8E-150 150 107
500 17120 (= 5001140 60 | MTC8 500 17 1 20 500 43 T 20 | MTC8
ST32-MTC 12-200 200(120 ST32-MTC 12E-200 200 71
-250 23|32 |250(170| 80 IMTC12 -250 23(32(250|129(121| 32 [MTC12
-300 | 1 300|220 -300 | 2 300 171
ST32-MTC 20-200 200(120 ST32-MTC 20E-200 30 200120 80 | 47
-250 | 2501170 -250 2501170
-300 AH oe 300|220 80 (WIG20 ST42-MTC 20E-300 o 40 300 200 100 54 MTC20
-350 350|270 -350 350|250 58

EHHY A XK UBHEWELET.

Special size is available upon reguest.




Q MRC20-ST TIOAF>rav 9.‘/70,_]:»&.

— TAP HOLDER (EXTENSION)

ooasy7 AL FHIVSE >
2 ST AEOTFHERICET R Y TIT. é@i\ G _H
o BT &¢EUPIC IR, (5 U 7= {5 RN T ASTTRE) ; < \
= Eliminates work-piece interference. /"’ﬂ | \
T eOYT Y TOMIEFER Y 7T NI TE. | = e
Q AR NS AR, LT = TITH =) 1
8 Deep tapping can be done by standard length tap.
) * 71— N AIL—MBD SIS, g
ﬂ Coolant through. (from MB)
By 1
7
A
20
-/ MRC20-ST _
o M&y~ U&kvr
3 CODE e UTap od! FEK | L D H G .
~ MRC20-ST2 - 80 80
e = '133 M1~M26 | NoO~4 | 3 25 18200 9 5
\y - -
> o5 M3~M35 | No5~6 | 4 %2 a1 10 B
ik -ST4 - 80 _ 80
Jﬁl' = = gg M4 ~ M4.5 No.8 5 4 18200 11 -
50 M5 No.10 55 | 45 oo 18
— -ST6 - 80 80
% 56 M6 1/4 6 45 (o5 12
T 8T8 - 80 = ) 80
e 0 M7 ~ M8 6.2 6 25 |
o SO -8 | Mo ~m10 3/8 7 | 55 pe 14
'3 -ST12 - 80 M12 - 85 | 65 80 15 = 4
ﬁ -120 : : 120
ST14 - 80 80
z 50 M14 9/16 105 | 8 =551 18 M5
= ST16 - 80 80
= -
g 50 M16 125 | 10 551 22 | 22 | M6 .

WY ZE S S Y RENELET.

E20 IV RAFar FRIVE BYHNLAINF

Special size is available upon request.

EHTENSION HOLDER REMOUER

I FRINAZBHRICBYATHDANS,

Easy removing extension holder




q :

V)] MRC20-S THAF> > ay B SHFIN S

BEEDH

' SHRINK FIT COLLET CHUCK ER SHANK

o BIRNBE. [RELTSumBIR] (&L Y bF v v J{REL)

Run out accuracy less than 5 micron.

* BT A [SEEERIN TS RE]

INT BT =L (VECTARON) TS 2 AFHBH B ICHFEET .

W —1)43 A5 /s SHRINK FIT TOOLING SYSTEM

Balanceable tool holder (VECTARON) exclusive pre-balanced body design makes tool holder’s entire
mass symmetrically balanced for even shorter setup time in addition to its superb balancing mechanism.

s BRIE[ETNT—NFT—NZ 2ETHRYT ZETAREIm ENELELE.

High rigidity. (two face contact)

* 7_5\/ I\ zjb_ﬁmo

Coolant through body.

FARE

gripping length

4]

SRS

_BART

gripping length

D1

CODE FIG od L L1 D H
MRC20-S6 - 40 40 16.2
- 80 1 6 80 = 12 20.4 20
-120 120 24.6
-S8 - 40 40 182
- 80 1 8 80 = 14 224 25
-120 120 26.6
-S10 - 40 1 40 B 20.2
- 80 10 80 16 24.4 30
-120 2 120 101 26.6
-S12 - 40 1 40 = 24.2
- 80 12 80 20 30
120 2 120 63 26.6
-S16 - 40 40
- 80 = 16 80 | = 26 26 35
-120 120

WHEHFEY A XL EYERLV L ET,

FEEEHEE P4

Special size is available upon request.

=
1)
R
2
(Vp]
aE
7/
2
=
=
>
E
=)
i3
X
3
&
7iH
)
%
w
2
3
z
=
=
—'l
o)
o)
=
=
q
Q
T
=
9]
X
m
D
o
>
z
x




N TBT50-SFH & (EshAIL 4 —fE

== SOLID TYPE SHRINK HOLDER

BBTXEhICE . BEFOBTERICE ZERVEETET
Can be used for both BBT and BT spindles.

Y5 Features

* FHEERULMERY Lt Ol Uil
— Less interference with slim body. HIgNErecision|
@ * REEOIRNMIE 3 umbLT.
(4] High Precision. (less than 3um)
o o BRI PRHBER A EI0TIC i,
(¢p) Suitable for deep hole machining and precision mold finishing.
2 s BRRASHNTHYET £ 82— R —FH5
Coolant through body.
15
(& o i _ | REESE
b2} ! ‘ Il = | g T
7h — : ']i B i T —
b E——— R | e -
& -
Fig1 : Fig2
i
> TBT50 ( 2@ {t4HR) Two face contact
0O CODE Fig | d PR L, ] H E
5 TBT50-SFH 6-110 215 | 110 | 72
165 27.3 | 165 | 127 |
— 195 6 | & repe] 168 [ 157 | 2°
% 255 336 | 255 | 217
o TBT50-SFH 8-110 255 | 110 | 72
0 165 313 | 165 | 127
T8 195 8 | 18 [ 345 | 195 | 157 | 25
) -255 40.7 | 255 | 217
Z -205 443 | 295 | 257
A TBT50-SFH10-110 295 | 110 | 72
T 165 353 | 165 | 127
|Q 195 10 | 22 [385 | 195 | 157 | 30 -
o 255 | 447 | 255 | 217 )
m 295 489 | 295 | 257
BY TBT50-SFH12-110 315 | 110 | 72
165 37.3 | 165 | 127
195 405 | 195 | 157
255 12 | 24 71255 (217 |
295 50.9 | 295 | 257
an -355 57.2 | 355 | 317
TBT50-SFH16-110 355 | 110 | 72
165 413 | 165 | 127
195 445 | 195 | 157
255 8 | 28 eg7 28k 217 | °°
-295 549 | 295 | 257
-355 612 | 355 | 317
TBT50-SFH20-110 415 | 110 | 72
.. 165 47.3 | 165 | 127
195 505 | 195 | 157
V/l 255] 2 | 20| 8% [se7 [ 285 [217 | 40 | 190
v -295 60.9 | 295 @ 257
-355 67.2 | 355 | 317

BAR+ A OERERNCHEL v 72 J@EH/ZE0.  Please use h6 carbide shank cutting tool.
BT AL EYEELELET.  Special size is available upon request.



(V) HC-01 (t—hFrv0) i EIFHIKE
SHRINK FIT HERTER

| 45 Features
S IGFREER SO NY MEZIEHET.

Compact design heater unit.
| CRARICHANT. KW R EWENRTORETT, -
BEOmMTEHREARNICHUNTEEEDPED BV EELAOTRELIEEDIITAET.
Faster, cheaper and easier to use than the warm air type heater.
The workroom does not become warm so comfortable work can be done.
| o BA 7 —IRERE. B EREERT . R X HRRET .
| Automatic stop function with timer for safety envelopment.
| ¢ B —EBDETAL—MREVERT T TMBICTERWEETET.
Just set the timer and push the start button for heating,
¢ bE—AF7—LDEERILE LET  RILE DI IER EFTRETY .,

Easy to change the holder safely as the heater arm can be turned.

i
]

{t#% Specifications

B HC-01 ANSIMAE | 54E 38mm
code Max. holding dia. holder dia : 38Bmm

[ 5] SRR A B ) ¥3~49
-_— voltage AC100V average heatinsulime 3 to 4minutes

MR

powc-:rﬁconsummion 1000w weight 7.5kg
T e = 313W x 160D x 570H E—%—7—LliEE]
Heater arm can be rotated.
o R & FILEYR—k (@100, @65. MRC ¢ 23)
suardard MR, B o) 7 80, RHEA®
; RFLG. ) i
auoabIaes | Heatproof glove, 3pcs of cius_ Manual

B RILAS R — hBT30R. HSKEOAIEA 72, 32) Shank adapter BT30 HSK50 are optional.

ST-S Abb—=b2v 27 BREEHFRIVA
STRAIGHT SHANK SHRINK FIT HOLDER

) 45 Features

| eiMEAIEOLY P FY v ID3E

] 3 times higher clamping force compared to collet chuck
| B TTFHEHDE. of == —
| Slim design for less interference

L e WN\T 2 AAREEIN TS . _ K
| High balanced design for high speed machining -

| < RORNAEIDEMTIUmULT.

Runout is less than 3um at 3D end. B ' ===

|+ REOHFARHEHETE. pi | i T

=10
o
Q
E
|
)
?
G/
|y
2
7
=
(&
&
=
=
(7]
T
X
pad
A
T
e
5
m
i

CODE FIG ¢d ®D g [ L1 L2 H
ST10-S 3 -100 100 -
ST10S 3 -150 ! 10 o =
ST16-S 3 -150 - 16 I 70 80 -
ST20-S 3 -100 | 100 50 50
ST20-S 3 -150 20 150 80 70 |
ST20-S 3 -200 200 120 80
ST16-S 4 -150 s |4 16 7 | .70 12
ST20-S 6 -150 | 6 | 55 [ 12 186 ' 20
ST20-S 8 -150 8 14 60 90 25
ST25-S10 -150 10 25 16 30
ST32-S12 -200 12 .20 100 100
ST32-S16 -200 16 32 25 200 80 120 35
ST32-S20 -200 1 20 32 - - 40

WY e o L UEENE LEY . Special size is available upon request.



%)
=
=
1
'f.
K
a
)
7
ir
b4
N
v
75
)
e

d3a70H TN AN3 %0071 3dIS

) SLM #4 KOy /Ty RINAN S

o A Iik—

LN

Coolant through body
+BIEEEZERUABEZMITERT 1.

High rigidity design body.

" SIDE LOCK END MILL HOLDER

| ﬂ“‘{— 7

JH2 |
g 7]
TS
"f_;__ ‘ T = |:_
rn N Q‘
FIG2 I L1
CODE FIG | @d L1 D H1 H2 G
BT30-SLM16 - 75 1 16 o 43 55 24 M14
SLM20 - 75 20 46 60 25 M14
CODE FG oG 2 DR 9 [Hl | H2 | H3 | G
BT40-SLM6 - 75 75 353 | 15°
100 100 314 | 5
18— 1 | 6 o 25 | 23 (335 30 | 14 M6
-200 200 38.5
BT40-SLM8 - 75 75 39.7 | 15°
100 100 369 | 5
238 1| 8 a3 28 | 20 5 32 | 16 M8
200 200 44.2
BT40-SLM10 - 75 75 406 | 15°
100 100 392 | 5
A 1 |10 o132 | 32 ye 42 | 21 M10
200 200 46.8
BT40-SLM12 - 75 75 430 | 15°
100 100 426 | 5
19— 1| 12 g5 35 | 36 o 50 225 M12
2200 200 45.6




)] SLM %4 KOy oI KINHNS

SIDE LOCK END MILL HOLDER

CODE FIG[¢6d| L1 [L2][ D H3 [ G
BT40-SLM16 - 75 78 [ - - -
-100 100 479 | &°
i 1 |16 150 | 45 43 7 = 55 | 24 M14
-200 200 49.7
BT40-SLM20 - 75 75 | - | - -
-100 100 505 | 5°
o 1120 o 83 | 47 507 | ag 60 | 25 M14
-200 200 53.3
BT40-SLM25 -100 100
e 2 25— - | 85| - 70 | 24 | 24  M16
BT40-5LMS2 :Igg 2 | 32 ‘ 123 = |ea| = - |75 24 | 27 | M18
CODE  |FIG[@6d] L1 [L2[ D C | 6 [HI[H2[H3] G
BT50-SLM12 -150 150 47.8 |
-200 200 54.8 .
= 1| 12 52— 70 | 42 5 4 50 |225| - | M12
-300 300 68.8
BT50-SLM16 -100 2 100 | - - - -
-150 ) 150 | 538 |
-200 , | 16| 200 48 | 608 | ,. |60 |24 | _ | M4
-250 250 | 67.8
-300 300 74.8
BT50-SLM20 -150 150 | 70 56.4
-200 200 | 61.6
-250 1 | 20 | 250 52 668 | 3 |60 25| - | M16
-300 300 72.1
-350 350 77.4
BT50-SLM25 -150 150 | 67.9
-200 200 71.4
-250 1 |25 | 250 |70 |65 | 749 | 2° |70 | 24 | 25 | M18
-300 300 78.4 |
-350 350 82.0
BT50-SLM32 -150 150
-200 200 |
-250 2 32250 | - | 72| - - | 75| 24 | 28 | M20
-300 300
-350 350 B
BT50-SLM40  -120 120
e 2_ 40 150 9 | - - 185|303 M20
BT50-SLM42 -120 120
-150 150
B0 2 (42 5551 - |90 - - |85 |30 32| M20
-250 | 250
BT50-SLM50  -125 2 50| 125 [ - [100] - [ - | 95|30 [ 35| mM24

ESREY A ASEsIC LW MRz L BT,

Special size is available upon request.

N
I5a4
=
ﬂ-
1
K
a
v
7]
at)
B
5
I
R
Il
X
7))
o
m
5
@)
A
m
Z
v
=
r
| =i
I
(@]
I=
o
m
i




(V)] SLA 1 KOy kIS

1" SIDE LOCK END MILL HOLDER

@MANKD

7))
e
>
19)
1
R
m)
B
7/
B
I
o
2]
o)
m
|
o
(9]
A
m
Z
G e
I'é_' CODE d L D H1 H2 H3 G
- BT40-SLA20 - 90 20
T SLA25 - 90 25 - 50 8810 25 20 M10
O SLA32 - 90 32 60 65 ~ 80 30
=) SLA40 - 90 40 70 65 15 25 M12
)
BT50 B
CODE X L D H1 H2 H3 G
BT50-SLA20 -105 20
SLA25 -105 25 50 9570 28
SLA32 -105 32 105 60 | 65~ 80 20 M10 =
SLA40 -105 40 30
SLA42 105 | 42 0 | =B |

WaEmt A AHEicEUBELVELEY ., Special size is available upon request.




(Y)| ST ToR7> o a> 91 KOy oA S

EXTENSION SIDE LOCK HOLDER

(7))
—
] s :7E
N A
| 7
| <
J 52
3
~
CODE ?d L2 L1 CINEc2 0 H1 | H2 | G K
_ o 1

ST20-SLM4 - 50 50 | 105 | 321 0
= 4 75 oh I12.6 18 g 20 | 10 | M4 5
SLM6 - 50 50 105 0°46' 4
B - 75 6 75 130 [178| 19 | 0°30' | 30 | 15 | M6 i
-100 100 | 155 | 0°22' b
-SLM8 - 50 50 105 | A

- 75 8 75 130 20 | 20 - 40 | 17 | M6

-100 100 155

m
x
|
m
7=
L2
)
Z
2
o
m
=
(o]
(9)
A
i
(@]
-
o
m
I

CODE  |od| L2 [ L1 | Cl | C2 [ 6 [FMi|H2[H3] G

ST32.5LM6 - 50 50 | 120 | 241 | 4

100 100 | 170 31 | &
450 | © [150 [ 220 | ("8 [0 [=z2m | 30| 1° Me
200 200 | 270 31 | 1°56

SLM8 - 50 50 | 120 261 | &
100 100 | 170 35
50 | 8 [s0 | 220 | 98 | 30 21 | | VY e
200 200 | 270 | | 1°30' |

SLM10__- 50 50 | 120 29 | &
-100 100 | 170 210
50 ° [so [0 | 22° | a0 [Tmmr] | 15| 15| Me
200 200 | 270 | | T3 |

EFGY 1 A8 EICEUEEOVEUET . Special size is available upon request,



%
...l
ST
7.
A
2
Z
e
=|
Y,
.U.
1
B
m]
‘y
7
*
)]
4
g
P
7]
(o]
=z
7
o
m
=
(@]
(9]
A
3k
(@)
I=
o
m
X

|

)| ST IHRF>vavH4 KOy s

EHTENSION SIDE LOCK HOLDER

CODE od | L2 B R e G2 2 Hi | H2 | H3 | G
ST32-SLM12 - 50 50 120 29.5 3°
-100 100 | 170 1°34'
~55 12 150 | 220 24.9 30 1 50 | 15 | 15 | M8
-200 200 | 270 31 0°54' |
SLM16 - 50 50 120 ‘
-100 100 | 170
=50 16 150 | 220 32 32 - 55 | 15 | 18 | M8
-200 200 | 270

h 42

CODE Tl TR co e H2 | H3 | @
ST42-SLM6 - 50 50 | 140 241

100 100 | 190 311 | 4 i
450 | © [ 150 | 240 | 78 [ 38 80 | 15 .
200 200 | 290 40 | 316

SLME - 50 50 | 140 | | 264
100 100 | 190 331 | 4° i
50| © 5o [ 2a0] 198 " 34 | 17 M6
200 1200 | 290 258

SLMi0 - 50 50 | 140 29 |
00 100 | 190 36
25— 10 [—eo a0 229 T 45 | 15 | 15 | M6
200 200 | 290 223 |

SIMi2 - 50 50 | 140 31 N
100 100 | 190 38
B 12 [eo T 3ag | 249 T 50 | 15 | 15 | m8
200 200 | 290 | ' e

SLM16 - 50 50 | 140 | 381 | &
100 100 | 190 2°24'
150 ] "6 [0 [ a0 ] %24 | 40 [55| 5 | 15| 18 | M8
200 200 | 290 1°g

SLM20 - 50 50 | 140 231"
900 | 20 [ 100 | 190 | 364 | 40 | 1°8 | 58 | 18 | 18 | M8
450 | 150 | 240 044" | |

WiHY - XHENICRYEFELELET ., Special size is available upon request.




(V) ST ToRT>>ayqbOy yFNE

=~/ "ERTENSION SIDE LOCK HOLDER “
EMHNFLI

. 4

(/2]
_l
ae
74
Z
7
¥
P
= |
>/
Ui
i
K
|
P
7
e
Il
5

CODE od | L2 e o c2 9 |HI |H2 | H3 | G

H3ATOH X007 3dIS NOISNILX3

ST50.8-SLM10 - 75 75 | 160 325 | .
150 150 | 235 43
e 10— 278 ae 599 45 | 15 | 15 | M6
o | 250 250 335 il =
SLM12 - 75 75 | 160 345 | ,.
150 150 | 235 45
e 12 e | A8 s |52 50 | 15 | 15 | M8
250 250 | 335 @ =y
SLM16 - 75 75 | 160 416 | &
150 150 | 235 320
200 | '® [200 | 285 | %%% | 488 [2r2m | %® | 10| 18| M8
250 250 @ 335 1°57'
SLM20 - 75 75 | 160 452 | &
150 150 | 235 2°31'
5o 29 g T eee ] 364 | ups [rez| B8 | 18 | 18 | MB
-250 250 | 335 1729
SLM25 - 75 75 | 160
150 | 25 | 150 | 235 | 488 | 488 | - | 65 | 24 | 24 |M12
-200 200 | 285

SR AEwica eV E LT, Special size is available upon request.



(U) WMH v S3hksg

= |UEDGE MILL HOLDER

@MAND

EYHIMIICRE. ALY bRATRI-) T F v v JDERTIE.

BHICEABBNDPBEO>TH. I/ RINDPEALICHEIBTSLLTH.

V=R EDFEL THREDHRETH?

HF—DINTHRMZFDTX) HMEHERDOIIST.

RBICDA =7y PIIIENETT,

¢ USVTAIY 1—EBRMMHBEF T IV KINDT Sy MBEYT Ty SHBRNICHE.
IYFINEREICOY 7 LET,

Just easy tightening the clamp screw. wedge can effect and lock the flat part of end mill very tightly.
¢ )Ty TOFEDHMT D AT LTRADOB M & FHE &R

Guarantees maximum rigidity and accuracy.

¢ BEYPEICH U AXND $RIFHEL.

¢ D MDICN T —FE (BEHOHB T T RISTEIADPIY KN ZBEHTHRHD(HTET.

No slipping and no end mill come off against heavy-duty cutting.

¢TIy PRIV RINDT Ty MBEFODFHEENIEY A FOY IRV ZORBERTT.

Cutting force helps structurally tighten the end mill. -

& H HAIM

AN

PASERS

=
m
o)
()
m
=
S
=
T
o
o
o
m
T

ﬂ
BT40 |
[ CODE od L D
BT40-WMH10 - 60 10 36 -
12 - 60 12 25 42
16 - 60 16 48
20 - 60 20 55
25 - 90 25 90 63
32 -105 32 105 2

CODE od L "D
BTS0-WMH12 - 75 12 42
16NN 16 75 48
20 - 75 20 55
25  -105 25 63
32 105 32 105 72
40 -120 40
42 -120 42 120 be
50  -135 50
508 -135 50.8 195 102

R Y A6 S EMELVELET . Special size is available upon reguest.



(V) CWM vxyo3—-0)>JF+vY BT50

IVEDGE MILLING CHUCK

BTS50-CWMS0.8-125

o mHIHNCH LRI GR Y EE D DR,

No vibration. no slipping, no end mill fall off. g
eI F vy IRBEEILKYEHETT. =
Achieve high accuracy by adding milling chuck structure. rj
T YTUINKRNEES =Y TF vy IORFIEHEE > FFFRERILVATT. i
Patented holder (Wedge Mill Holder + Milling Chuck) v
:{.
-~
|
125 1
] <
1 B
il
- Y
i 12 K
8 & w
o
| (@)
=
m
W)
f
2% S o - -y
SLD E>Ov 7T KI)ARIVE BTSO0 2
PIN LOCK HOLDER g
Q
i b
(=
0
A
3....
MZ{SE].S_ i 815 )
) 61.68 |
N ‘ 31 |
I\ ]
o VISS
= , | ol w
j — — — .]__._l_/d.-\ Ly a g
=
U
_35.?8 _33_9

e AVER—a v I RIIAKRILE
This holder is for combination end mill. L |

¢ RIBFIEE IS KV GBEYHIAAETT .

Pin-Lock type. No problem to use for heavy cutting.

CODE L
BT50-SLD50.8 -120 120
-150 n, _ 150
-180 | 180

WY ZEEc S UBEWN L £, Special size is available upon reguest.



(V) MTA E—=NAF—/N—IL& A B

' MORSE TAPER HOLDER (TYPEA)

@MAND

g s

SELEFTIHESZERO N JIVINTICHRE.
E=IATF—=N\N—=RF)IERELTIERLEZLY,

=
>
=
|
b
A
5
|
JAY
|
R
L
4 L )
>
B 1
u 1
5 i ﬂl
% —, \‘\ f “‘: S|
m |
=
ﬁ MT NO.
b b
) -
o BT30 e
3 CODE T MTNO. L q D
3 BT30-MTA1 - 60 1 - 12.065 25
= MTA2 - 60 2 17.780 25
l; MTA3 - 80 3 80 23.825 40
BT40
CODE MT NO. L d D
BT40-MTA1 - 45 45
-100 100
-120 1 120 12.065 25
-150 150
200 200
BT40-MTA2 - 45 45
-60 60
-100 100
120 2 120 17.780 32
-150 150
-200 200
BT40-MTA3 - 75 75
-100 100
i 3 pa 23.825 40
200 200
BT40-MTA4 - 95 95
-100 100
—Eb 4 e 31.267 50
-200 200

WiEHY A ASEc kY MEWLNELET, Special size is available upon request.




 MTA £=IVAT—/\—FI5% AT

“! MORSE TAPER HOLDER (TYPE A)

CODE MT NO. L d :

=
BT50-MTA1 ~ 45 45 =
120 120 >
135 135 +
150 150 |
180 1 180 12.065 W
200 200 A
250 250 'JI‘
-300 300 s
350 350 |
BT50-MTA2 - 45 45 +
135 135 |y
PS 150 150 &
180 180
200 2 200 17.780 >
250 250 i)
2300 300 =~
-350 350 o)
BT50-MTA3 45 45 »
- 75 75 L
2150 150 %l
180 180 =
- 3 L 23.825 m
250 250 &
2300 300 =
-350 350 m
BT50-MTA4 =175 75 I =
450 150 3]
180 180 o
200 4 200 31.267 o
o -250 250 i
-300 300
2350 350
BT50-MTA5 05 105
150 150
205 5 205 44.399
250 250
-300 300 e
BT50-MTAG 205 205 |
o 6 = 63.348 90

WS AEawic kY sEW =L %9 . Special size is available upon request.



=
=
v}
=
I
I
%,
>
I
A
|
ViR
v|%
&
@
B

(8 3dA 1) H3A1OH H3dV.L ISHOW

MORSE TAPER HOLDER (TYPE B)

SRAERTZEZHROTIMICKIS.
FIERVRNE—NAT—N—FEZRELTIERALIEEZLY,

(V)] MTB E—JVAF—/N—3kJL & B &

G "

N N

CODE MT NO. [ FIG L d G
BT50-MTB2 - 45 45
- 90 2 90 17780 | 32 M10 x 1.5
-120 120 _
BT50-MTB3 - 60 60 '
- 90 90
50 3 ¢ 150 23.825 40 M12 x 1.75
-150 150
BT50-MTB4 - 75 75
- 90 90
750 4 150 31.267 50 | M16x2
-150 150 \
CODE MT NO. | FIG L TILAZY K | L1
BT50-MTB5 - 60 60 P50T- I (II)-M20 - 65 65
- 90 90 I1(I)-M20 - 95 95
-120 g 5 120 [ (IO)-M20 -125 125
-150 150 [ (I)-M20 -155 155
-180 180 [ (II)-M20 -185 | 185
-210 210 [ (I)-M20 -215 215

WY XEIC L) BEWZLET. Special size is available upon reqguest.




[

Ty
=
o

www.manyo-t0olS.coJp  maoe wamn s

O
:
Z
T
=
®

o
[ 3]



QCH 24YIF xR

QUICK CHANGE HOLDER

CRRA7ZAATIAVIF L IRIVEEFEN
MCRADIRZ VAV IF 1V I3HATHEMRT S,
SRARA7 74 AERALER.MCRICRYETY.

Quick Change Holder can make the tool of machining
center use with manual drilling machine. 1 B

[T
I i Cy
— = |
_______,4{ ! "~
L s
0.D=—I5 | 1D =/5 5 3
CODE 0.D Taper 1.D Taper BlER> L D H
T40U-BT30-30 us/8"11
T40M-BT30-30 N30 arao | M16P=2 30 5 026
T50U-BT30-35 ui-8 35 57.6
T50M-BT30-35 NT50 M24P=3 '
T50U-BT40-40 Uui-8 '
T50M-BT40-40 BT40 M24P=3 40 92 67
T60M-BT50-65 T60M BT50 M30P=3.5 65 148 105
BEEYA A6 LEVMENVELET.LOFREBLTEYEELADT RARESE L XL,
Special size is available upon request.
| * BTS50D#ETBTA0DEHZMITZDIC/RIIBET,
| +BT506BT40BT300HAMSEENET,
Easy to change your tool between. i
A.

OD>—/% | IDF—/"
CODE 0.D Taper |.D Taper L D H
BT40-BT30-45 BT40 45 67.6
BT50-BT30-60 BT50 L e 4 [e96
BT50-BT40-60 BT50 | BT40 | o2 87
BT50-BT50-90 BT50 30 130
BT60-BT50-75 BT60 | 2520 75 | 148 115

WY A XL MENELE T L F B L TEY ERADT IR SE L EEL,
Special size is available upon request.



QCH 94y FI 2 VFKNE

QUICK CHANGE HOLDER

U ARIEER OERELY) A (kRIS QCHZE! QCH type for Large size machine

IR CYRAN=F DIV =TT RYF A MR !
TEZTBRH L F 1 X CHBICRETEFEEIm EVZLET.
Achieve efficiency work with Vertical milling Attachment.

o P97 SEIMTHOZ MIEERMINTICE D ZE RNz LET !

NS T RO I AR TABSFRSMHRICTAET.

Easy tool change system.
High accuracy positioning.

J‘ ABIGE
Heavy machine

s <Y

| CPRIT Y=V A
| WALV RV |
Machine Spindle
|
| QCH -
SL9IFTITFIVE
\ / (BT50-BT50- 90)
\ ,-'/ Quick change holder '
.( [ H =
o e ——— eeal] H N
===l e
= — i s
= i
| Kot

. ‘ BT+ 0=t E
727Ny R ' BlToolHolder

_ LY FIKTERBINFZH

Angle Attachment -

WRENCH
FK-No. LENGTH | HOLDER.D
70~75 250 -BT30-
92~100 | 290 -BT40-
| 140~150 | 385 -BT50-

55



/GED STM &> »7048 vy 7RIV BT vy

' HIGH SPEED SYNCHRO TAP HOLDER BT SHANK

* SEIRDEMOENS ORRET RV AR EBOD THIICL.EBITRILEF Y bD
FIRICT—NEFFTZEMC L T 7= FHEBEHRBEP B LTVET,
Slim and compact head design. Eliminated workpiece interference and allows maximum coolant to the tap.

¢ FAIFR—=IFR2Y THEREES AN —FR=IOFRINETT . N H SYELRELSHHE D TIE.
FANKR—=IHR2y THEREFEET.

w Coolant through holder for oil hole tap. Synchro tap holder is coolant through type
2 and can provide the coolant to the tap through machine spindle,
& L
=
g ﬁ-lli_ Ee—=ch ot — 'r;~-| = = 1 ! Y
0 [T ==
7 BT30
7 I o 27
JL CODE L C D [Chucki‘[?g%aﬁg}
& BT30-STM10 - 90 - 15 29 M2~MIO |
r;u' STM16 - 90 21 | 35 M10 ~ M16
z BT40 e
A CODE L c D i)

BT40-STM10 ::gg :gg 7% o9 .
X
5 BT40STHIG 105 105 21 35 W10 ~ 116
o BT40-STM24 -120 120 30 49 . M16 ~ M24
E BT50 N

2T

= CODE L C D (Chucm{r?g%aigg%
e BT50-STM10 120 120
= 150 150 15 29 M2 ~ M10
=l 180 180 }
= BT50-STM16 120 120
T -150 150 21 35 M10 ~ M16
o 180 180 -
2 BT50-STM24 -135 135
T 150 150 30 49 M16 ~ M24
L -180 180 |
- BTSO-5IMIS. 1o 150 40 70 M24 ~ M38
= W LOFREBLTOETA Iy NISEIEL CEEL,

Comes with collet nut & wrench. purchase collet separately.

* STM BE U IOKYTHRIVE AR —brvs

HIGH SPEED SYNCHRO TAP HOLDER STRAIGHT SHANK

r"w“;l X —_— = "'ij‘:_‘-_— T .'
S W= &
. -
CODE : H g D | Ot
ST32-STM10 180 54 15 29 M2 ~ M10
-STM16 | 61 | 21 35 M10 ~ M16

Wy b LFiimRLTOETS Oy FERESEN EEL. P57
Comes with collet nut & wrench. purchase collet separately.



-~

V

(i

)) STM JLv b

STM COLLET

@MAND

Ay £ 8 e = ey

CODE d SW H T
STM10-M2 3 25 o 21
M3 4 3.2 26
Ma 5 4 29
M5 55 16 37
M6 6 4.5 39 32
-U5/16 6.1
M8 6.2 5 20 42 |
-M10 7 55 47 I
STM16 .
CODE d SW H1 [ H2 L
STM16-M10 7 55 25 42
M 8 6 26 46
Mi2 8.5 65 48
U1/2 9 7 25 50
Mi4 105 8 52 42
U5/8 12 9 - 56
M16 125 10 55
P1/8 8 6 16 30
P1/4 11 9 34
CODE d SW Hi H2 L
STM24-M16 125 27
M17 13 10 26 55
M8 14 11 P 57
‘M20 15 12 61
M22 17 13 a4 65 56
‘M24 19 15 68
P3/8 14 11 20 31
P1/2 18 14 o5 38
-P5/8 19 15 34 | 39
STM38 _
CODE d SW H1 H2 L
STM38-M24 19 g 34 68
M27 20 74
U11/8 22 38
-M30 23 1 i
“M32 24
Moz 24 19 40 83
M35 26 25 70
-M38 o8 21 45 86
-P5/8 19 15 39
P3/4 23 17 - 40
P7/8 24 19 43
P 26 oy 46
P11/8 o8 38 51

WY A LIS EVEENVELET.  Special size is available upon request.

HA=RIRDDRTEAFRURRY T v 2 7 HE— LS IERATRETT
FEAR R Y 2 OPEVOT. ATERRCBAELTIHEECZED

-<TLU NLS

(/7]
_l
2
Q
o)
e}
m
dd



(V) BSA 9= F7HE=Y IV E

BSA (blazed carbide BSATYPE)

* BNA bERYFITERTARMIAR— T~V K,

For rough boring with bite.

ﬂBSA(ﬁ/\—r FRARY)

&
>
"_',i?
%
i
7
A
|
)
>
g
A
o
K

d
g CODE Min VR L D1 L1 C W
= ST16-BSA50 - 60 50 65 60 16 55 40 13 3
ST20-BSA6B2 - 70 62 90 70 20 50 16 2
ST25-BSA72 - 85 72 110 85 25 65 60 19 2.4
ST32-BSAS0 -105 90 125 105 32 70 75 4
ST42-BSA105 -120 105 ] 160 | 1 20 42 80 90 o5 ' 3
ST42-BSA130 -135 130 | 190 | 135 110 6
WS b BRBELFREBLTEYEEA. B85 b PB5 Not come with bite, insert and wrench.
= i —— = !Qli?:j _,g;. ’0 .
| | a‘ Il__|__:‘ A . 6 \:\\ =
i " 5' o

FIGT

o

BT30 ES5tEH1) A _
—U> I~V E BT30 ALK FIG L1 L2 D1 D2

ST16-BSA50 - 60 BT30-SLM16 - 75 5 135 ~ 43 B
ST20-BSA62 - 70 BT30-SLM20 - 75 145 46

WisFEY o TEEC L WEEWNELET, B/ b PB5 Special size is available upon request.



| BSA 7—IVRTHR—=)T~\YR

-1 BSA (blazed carbide BSA TYPE)

BT40 GGEStEH)

EMHENYL

o VS (8B s mran gy

() "
.

F—U> o~y K BT40 L& FIG K D D2
BT40-SLM16 -75 135 103 =
-100 160 479
ST16-BSA50 - 60 150 1 210 105 43 471
-200 260 497
BT40-SLM20 -75 145 113 =
-100 170 50.5
ST20-BSA62 - 70 150 1 550 123 47 50.7
-200 270 53.3
BT40-SLM25 -100 185 _ ~
ST25-BSA72 - 85 150 2 535 55
BT40-SLM32 -100 205 _
ST32-BSAS0 -105 150 2 255 = 62
WEHY A ZDEic LU BEWEL£9. Special size is available upon reguest.
BT50 GHSE#)
K=~y K BT50 RILA FIG L1 L2 D1 D2
BT50-SLM16 -150 210 53.8
y -200 260 60.8
ST16-BSA50 - 60 250 1 310 130 48 678
-300 360 74.8
BT50-SLM20 -150 220 56.4
-200 270 60.8
ST20-BSA62 - 70 550 1 350 140 52 678
-300 370 748
BT50-SLM25 -150 235 67.9
-200 285 71.4
ST25-BSA72 - 85 550 1 335 155 65 74.9
-300 385 78.4
BT50-SLM32 -150 255
-200 305
ST32-BSA90 -105 -250 2 355 = 72 =
-300 405
-350 455
BT50-SLM42 -150 270
ST42-BSA105 -120 -200 2 320 = 90 =
-250 370
BT50-SLM42 -150 285
ST42-BSA130 -135 -200 2 335 = 90 <
-250 385

WY AV BN ELET,

Special size is available upon reguest.




(V)] BSB 4—NEKTFHR=U>IAv K

BSB (blazed carbide BSB TYPE)

BSB (f/\1 FxXBE!)
* B{NA beBRYRFGTERIZITRMIAR-U Iy K,
For rough boring with bite.
L 15
SE—
g4l
o 1 =
L] N
q| = ——A O Ll o

CODE Min Max I D1 L1 C w
ST16-BSB50 - 50 50 90 16 55 40 13
ST20-BSB62 - B0 62 115 20 50 16
ST25-BSB72 - 50 72 135 50 25 | 65 60 19
ST32-BSB90 - 50 90 150 32 70 T)
ST42-BSB105 =90 105 190 90
ST42-BSB130 - 50 130 260 he 80 110 25

WA/ b BRBLOFIREELTEYERA. /57 b P85 Not come with bite, insert and wrench.
T 7S - )
E= A
o 5.:\ }
=
BT30 EStHl) -
RE—=U> Iy K BT30 ;KIL& FIG 2 DiEED2
ST16-BSB50 - 50 BT30-SLM16 - 75 5 105 ' _ 43 | _
ST20-BSB62 - 50 BT30-SLM20 - 75 ‘ 46

WY A XEEIC K MR E LR,

Special size is available upon reguest.




QED BSB 7—"”/7]'\7?]1— 1) *-/7“/\“/ K

BSB (blazed carbide BSB TYPE)

@MAND

- Wy S

BTA40 GHEStEH) L
' K—=U2 I~y K BT40 KL & FIG | L1 L2 D1 D2

m
BT40-SLM16 - 75 125 93 - %J
100 150 479

ST16-BSB50 - 50 = 1 - - 43 — 2
-200 250 49.7 Jlb
BT40-SLM20 - 75 125 93 . %

100 150 505 |
ST20-BSB62 - 50 e 1 T 103 4F s 17{
200 250 53.3 ’I
ST25.8SB72 - 50 BT40-SLM25 -100 5 150 _ 55 ~ U
150 200 S
BT40-SLM32 -100 150 ) i .
- ST32-BSB9O - 50 e 2 S5 62 ,7\
D)
BT50 GEStEH) N

R=UZINYE BT50 RIL&A FIG L1 L2 D1 D2

BT50-SLM16 -150 200 538 | ﬁ
-200 250 60.8
ST16-BSB50 - 50 o= 1 e ‘128 4B o
-300 350 74.8
BT50-SLM20 -150 200 56.4
-200 250 60.8
ST20-BSB62 - 50 e 1 Sc | T2o 82 e
-300 350 748
BT50-SLM25 -150 200 67.9
-200 250 714
ST25-BSB72 - 50 e 1 00| 120 65 —
-300 350 78.4
BT50-SLM32 -150 200
-200 250
ST32-BSB90 - 50 -250 2 300 - 72 -
-300 350
-350 400
BT50-SLM42 -150 200
ST42-BSB105 - 50 -200 2 250 | - 90 -
-250 300
BT50-SLM42 -150 200
ST42-BSB130 - 50 -200 2 250 - 90 -
-250 300

B AEENC LY EMEWE LET . Special size is available upon request.



(V)] BCA 4=NAPR=Y Ay

BCA (UNITBCATYPE)

BCA(2=v MPRARY)
¢ YA IORTIZY MR TERT B EFRAE—U 5y K,

For fine boring with Micro Bore Unit.

S
>
i
L
L r 1
K <
I e A
;r{ b //T?‘\‘%’\ AL j %1-’9 |
| E—— YRS
Y S = .
o Ll |7 s
% | |
N | / . >
P L1 E
F | oxy - =
m d - 1 s W
g CODE M TMEx L D1 L1 (0 E | a=w I WaFy 7
ST16-BCA50 - 60 | 50 70 60 16 55 43 M5B2XT-40 | TCMT1102 [ 1[]
ST20-BCA62 - 70 | 62 87 70 20 51 M7A2XT-80
ST25-BCA72 - 85 | 72 97 85 25 65 56 0.2
ST32-BCAS0 -105 | 90 | 134 | 105 | 32 70 TH ' TCMT16T3 LI
ST42-BCA105 -120 | 105 [ 149 | 120 | 42 | o0 | 90 M10A2XT-80
ST42-BCA130 -135 | 130 | 174 | 135 | 42 110
W=y MoEAERAF Y TRA— Uy DHRET S ET D dRULHAPRESIGSH ZE0ET,
The cartridege for negative insert can be attached
but there are some cases above mentioned “d” or "L” dimension becomes different.
Beso0fi71iy b ANFTRABLTEUEEA. Micro bore units are wrenches are not included.
,q
| = T T~
=) | B
-
FIG1 |"l ‘ h
== T 6
T === 4! RN A5 e
FiG2 | ‘
BT30 GEStE#HI) -
K=~y R BT30 L4 FIG L1 L2 D1 D2
ST16-BCA50 - 60 BT30-SLM16 - 75 5 135 | 43 |
ST20-BCAB2 - 70 BT30-SLM20 - 75 145 | 46

WAFY o ZEEIc R YR LET. Special size is available upon request.



(V)) BCA 9—NEFHE=U Iy

BCA (UNIT BCATYPE)

BT40 GEStEHI) O
F=U> I~V R BT40 AL & FIG L1 L2 D1 D2

BT40-SLM16 - 75 135 | 103 =

100 160 479

ST16-BCAS0 - 60 s 1 g s | B e

-200 260 49.7

BT40-SLM20 - 75 145 | 113 =

100 170 505

ST20-BCA62 - 70 50 "' 220 | 123 | 4 [Ts07

200 270 533
BT40-SLM25 -100 185

ST25BCA72 -85 10 IS8 55 -
BT40-SLM32 100 205

. | sra2scaso -105 e 62

BTS0 #ESEf) _
RK=U> I~V K BT50 ALK FIG Lt L2 D1 D2

BT50-SLM16 -150 210 538
-200 260 60.8
ST16-BCA50 - 60 = 1 S0 130 48 o
-300 360 748
BT50-SLM20 -150 220 56.4
-200 270 60.8
ST20-BCA62  -70 = 1 S0 | 140 52 s
-300 370 748
BT50-SLM25 -150 | 235 67.9
200 285 714
ST25-BCA72 - 85 250 1 335 155 65 749
-300 385 78.4
BT50-SLM32 -150 255
-200 305
¢ ST32-BCA90 -105 250 2 355 = 72 -
-300 405
-350 455
BT50-SLM42 -150 270
ST42-BCA105 -120 200 2 320 = 90 a
-250 370
BT50-SLM42 -150 285
ST42-BCA130 -135 200 2 335 - 90 .
-250 385

WERY A6 LY REWNELET . Special size is available upon reguest.



QED BBL /=)L R7HR=D > FAv R

| BBL (BORING HEAD)

! BBL(X#ZH)
2 ,gﬂ < r_ijl.'}ffﬁx T-40

93) % ot
o : S
I= (B
7 g _._
R (0
| TR | ]
1) Uil s 1
‘/_. o @35 o
7 |
~ -,
4
I\ CODE - D BBL-R BBL-F
o Min Max
!I:_IJ ST42-BBL 170 240

e RIESLVBAEREIC ! Ideal for trial and small quantity manufacture.

o FAIA—ILFT . INTHERLIF. Hieh precision with oil hole.

e AL WIS T7—TYROHEH A fRiR. Removal swarf by oil or air.

¢+ BEIZ. ORI EAOSLM T LIEE TG, Variety of length is usable as side lock type.

e BFERBOI—) 2 JTF vy v IRINEATHERAE. Any milling chuck is also attachable.

: -

il

I

64

BBL (GEStEH1) .

: : ; d
A=) w N o
=T B BT50 R4 Nin VB IE D
BT50-SLM42 -150 200
gﬁgggt? -200 170 240 250 90
-250 300

WY A AL BENELET,

Special size is available upon request.




TBS AO0—7J1x1NE/ 1 b

“ THROW-AWAY BORING CUTTERS

@MANL]

e oals (418 nas

BSA BSB BSB

<=
‘==
T
=}
<=

I

=
m
73
A
0
|
I
7
5,
-
7
i
p
T
o
:
=
3
o
o)
)
2
)
(@]
g

CODE |FIG|Oh| L | @&x> |[LUF WaFYT
TBS 413 13 | 80 — —
Tos af6 | | | 16120 MS4011A | TF15 CC17109T3 (1]
TBS 419 19 [140 o
- I
HG: oo Ao eoi MSOS11A | TF20| CC I 1204 (1)
TSBS413 13 1 80 | MS2506A | TF9 |TCL 1110201 ]
» TSBS416 | , | 16 120
FiG2 TSBS419 19 [140| MSO411A | TF15| TC OO 16T3 000
TSBS425 25 1150
-,
CODE |FIG|Ih| L | BR%Y [LoF| @aFv T
TBS 913 13 | 80 .
) __ 85 016 | | | 16120 MS4011A | TF15|CCCI7109T3 (1]
el | - TBS 919 19 (140 . —
el The oos T a0 MS0511A | TF20 | 6C 001204 [0
o TSBS913 13 | 80 | MS2506A | TF9 | TCLII1102010] s
FiG2 o TSBS916 | ,, | 16 120
14\ TSBS919 19 1140 MSO411A | TE15| TC 11673000
= TSBS925 25 1150
CODE [|FG|LIh| L | BHZS |LoF] BaFv7
TBS913L 13 | 80 - —
» Tassiel] 1 [HeTizo] MS4011A |TF15|cCOI0ST3C)
G TBS919L |19 (140 MSO511A | TF20| CC (111204 (]

Ao —hFoT7RIAPA—H—OF v T2 IHERALFESWH
Inserts are sold separately.



() TS TARN—

TEST BAR

_ *ﬁfg Accuracy
1.7=N=2v 271239 % ¢ 50+0.00588D 1k L-0.002L1 A
run-out (Taper and @5020.005) : within 0.002mm

- 2.950x0.00588MEMEO0.002L1A. MEE0.002L A
¢ 50+0.0085) : circularity and cylindricality within 0.002mm

B.LTE(T—I514 0 » 567 A MN—iKE % T)+0.005

—S7NMISL

L=+0.005mm
==} — : . CODE I
_____ —h e = - | BT40-TS50-200 200 ol
= ‘ s BT50-TS50-300 | 300

:
5

Ovy*2Y 719 AF¥7— NEBRfIIE

LOCKING FIHTURE

L e PR TNAE Y KOBRFFFES U ISR,

| Easy to fix and remove the cutting tool and pull stud.
o R X KB X BICE T HRICY.

. TLNREY KERYT AV IHTEET,

| Usable vertical and horizontal position.

| e Y VRABIE T S ERTILEWTHEY £,
| YR E A

The part of fixture contact with shank is made
of aluminum alloy to prevent the tool hurt.

I Q it
= = |

t F

F—/\ No.
CODE Zl F L E G D ¢
40230 30 46 175
40235 35 53 16 y Jrerd 130 110 63.5 66.5
40240 40 63 180 ||
50245 45 85 , 19 230
50250 50 100 | 254 235 15 | L3 . i | 8.1




Q@) (S12-R5%150) &y FA by 7 EE(EHELS

. TOUCH STOP

ST X T F 2 AR E AR O IR TTALE 1% R E 2E

Simple, easy to use, no maintenance and low cost 3D positioning measuring tool.

NI 77— OMEICAEFEZY T MPISAEZITO Y —TT,
Easy to measure, just make the probe contact to the end face of the workpiece.
* BuR Ui RESRREE SublA.

Positioning repeatability : Less than 0.003mm.

o {8 MR OBHERUELAXYZ 3FHADSORMELSWEICTAET.

Usable both of vertical and horizontal machine and can measure 3-axis. (X. Y. Z)

E&fﬁﬁw:ﬁ&)ﬁ How to measure

1. E#MERRE € (WS200E%) RIEFET— 7 DismIcw > < U
TETEAEFHLEENET.

Turn the spindle.

2. FZDNLED SHEFOERE1/2(10+2=5mm) ZH1E L7zFiHEk

EBEICEYET, XY @HED 7 BHES
Make the probe contact to the end face of workpiece slowly until stopping. bt [ER
B.Z#ICH L THEHZRESBIAEFHIE AL SEIVHELET. [ I L
_~ The based position is that revise the diameter of probe x 1/2 (10+2=5mm)

from stopped position.

150 = =

012

&
n
0
3
X
0
o
2
Y,
.3:
A
N
Y
7
&
=
fr
B
E
73
o
o=
o)
i
()]
o
e

(S8-R90) A YVIWVAZ M 5— H UHIRESS

DIAL SLIDER

7 B TEURT (V) —7HITESR Measuring for workpiece

* ;’% N > D — 2 OBRIFFEBAREICE L T ANBRAREH AT NED SABRETHEISHNENTA

Simple. easy to use. Large measuring range.
S FAM UV —AOBFIRIBOBICE>THY . BFEBOT AN VI 5—REZERWVELEITET.
723 ELTIY MIWMT1-153H.BEY 0.0 1T mmiEIETHE1.5mmzAEWLTEYET,

Mounting hole 6 can be used your test indicator,
Optional : MITSUTOYO T1-153H. (Dial range 0.01mm to 1.5mm)

|
|
|
|

\
BAREF #2300 |




ZeWNEN

g
=|
0
z
7o
Z
o
w
T
=
-
=
d
(5]

q | TNALYE

~—="| RETENTION KNOB (PULL STUD)

=

a —
SR _
Q T X S|
~0 | \F [
L]
L
F—/J\ No. fili #
ZREAI N CODE D [ D1 | H | df [ 5 0 M d R
| ggggjg o 45° 2'5 MAS P30T-1

BT30 11 7 1165 125 43 | 23 Mi2 =
“coben ' 60° 1 MAS P30T-2
2300-20 OH 25 -
ggggjg SF 45° é MAS P35T-1

BT35 13 | 85| 20 | 13 | 48 | 28 — M12
g o 60° ~— MAS P35T-2
2350-20 OH B 3 _
2400-10 . -

B 00 1600 45 4| MAS P40T-1
2400-20 ; -

BT40 S sosoon] 15 | 10 | 23 | 17 | 60 | 35 | 60 | M16 |, — MAS P4OT~2_
2400-30 . - ;
2400-30 OH 90 z | ET40:=20
2450-10 . -

e T 45 6 | MASP45T-1
2450-20 " N

BT45 —Sieooo0m | 19 | 14| 81 | 21 | 70 | 40 | 60° | M20 —c— MAS P45T-2
2450-30 . - .
2450-30 OH 8o 5 | Bresl
2500-10 , -
et (O Eh 45 & | MAS P50T-1
2500-20 : | -

BT50 Sesoooom| 23 | 17| 38 | 25 | 85 | 45 . 60 | M24 |—<— MAS P50T-2
2500-30 : - ;
55090 oL 90 BTso-goJ

Wt ZDTNFL B TENETOT HRIECTHRR < ZEZ 0,

Other size retention knob (Pull stud) are also available.



MBA 752738k

CLAMP BOLT FOR FACE MILL ARBOR

u

. I ‘{' o . > :__’_ o {_: o I
L3 LEI I T ==
L U Lu_- H | o u ligj | H %
- - M L- MBA-OH ;
CODE =D d L L1 L2 L3 G H >
MBA-M 8 | 20 15 | 25 | 16 | 9 T M 8xP=125 | 6 (55
M10 28 18 31 20 i1 | 9 M10xP=1.5 B =
M12 33 | 53 [ 35 23 12 10 | M12xP=1.75 10 P
M16 40 38 22 | 16 M16xP=2.0 14 i
M20 50 27 50 30 20 | ,, | M20xP=25 .7 i
M24 65 37 58 34 24 M24xP=3.0
-~ — L (9]
MBA-OH £ 82— —RI 5 7HIV b C
o CODE (D d df L L1 L2 L3 G H 2
MBA-M16-OH | 40 23 38 22 16 | 10 | M16xP=2.0 14 o
M20-OH | 50 27 4 | 50 30 20 14 |_M20xP=25 17 3
M24-OH | 65 37 58 34 | 24 M24xP=3.0 | 5
[+ ] a* §
HCB F+v75R)L b .
CAP BOLT FOR FACE MILL ARBOR . &
da & s ) £
)= L & >
L lu] ) | ) &
HCB HCB-OH o
CODE D L L1 G H
HCB-M 8x35 13 | 8 M 8xP=1.25 6
M10x35 16 | 35 10 M10xP=1.5 8
P M12x35 18 _ 12 M12xP=1.75 10
M16x40 | 24 40 | 16 | M16xP=2.0 14
HCB-OH 2 2—ZXI—B*+ v 7RIV b
CODE D di B | G | H
HCB-M 8x35-OH 13 8 | M 8xP=1.25 6
M10x35-OH 16 3 35 | 10 M10xP=1.5 8
M12x35-OH 18 | } 12 Mi12xP=1.75 | 10
M16x40-OH 24 | 4 | 40 16 M16xP=2.0 14
— o o
HSK 7—52 8N 7
HSK COOLANT PIPE
: = — _ﬁ"
|
CODE TSI O3 Ml [ 1= 10 L) s L2 G [ H | Oring
0-2050 HSK 50/ 10 | 33 | 23 10 M16xP10 | 5 P8
0-2063 HSK 63| 12 365 | 245 | 12 M18xP1.0 6 P10
0-2100 'HSK100| 16 44 | 28 | 16 M24xP1.5 8 P14




(/) SP 2R AN—1—

“d TWO FACE CONTACT SPACER

BYJEICE 2 RIET HIEETT Proposal for hard cutting

e <Y BT 22— SENITHOEEIRROEYNT TR BE.XELLNIO
» BBHHVELET,
e Spacer can reduce vibration in hard cutting. or deep mold cutting for horaizontal & double column M/C.
2 CE.BFBDY—ILRILER T —/N\%& 2miEtiEic3E0 =0 7.
'ﬁ We can modify your own tool holders and arbors to two face contact type.
1)
R’
A
N
|
.H..
I
2 -
'|1.
5
m
Q
-
>
2]
9
3
m
X
e "'_:::/ ‘ [ -
- %__'_ |
: _'f L | N ."‘\y
' | L | __] /
a

CODE T
BT40-SP4.4 4.4
BT40-SP3.4 3.4
BT50-SP5.4 54
BT50-SP3.9 3.9

HAN——OEAIEREMIEHEBEL TSYEY . CEHNROERBICSE TEERLETD.
We adjust spacer thickness by distance between spindle and tool flange.
BRI 7= IORRIC LY FTEEPRELRENTE0ET.
In some cases. holder and arbor can not accept spacer.
EEHY A AR EEOELET. QIO RS EE L,
Special size is available upon request.



HSK-FM 714 AZJ)V7—/\

FACE MILL ARBOR

L e@mEY Y 2ICEHRE,

| JIS B 4113RBIE@M 771 A DY ZE7—/\
¢ BELRBATEEIREMIT —7IHE.

Plenty types are available for various types of workpieces

CODE ¢d L D | H w G
AG3-FM16 60 - 40 60 | ) ) ;
a0 16 2138 |16 | 5 8 HCB-M8
AB3-FM22 260 - 50 60 | -
120 - 50 120
—aEs = 2 22 60 | o 18 5 | 10 HCB-M10
120 - 63 120
AB3-FM27 - 60 60 i} )
T 27 p5] 78 | 20| & | 12 HCB-M12
AB3-FM22.225 - 60 - 50 60 | .-
120 - 50 120
AG3-FM22.225 - 60 - 63 | 22225 g0 - LI RO
120 - 63 120
AB3-FM25.4 - 60 60
20 254 |5 80 |22 | 5 |95 33 | MBA-M12
AG3-FM31.75 - 60 60
= 3175 |51 60 | 30 | 7 |127 40 | MBA-M16
CODE od D L D e L G
A100-FM16 75 - 40 75
e 16 (=138 |16 5 8 HCB-M8
A100-FM22 . 75- 50 75
120 - 50 120 | a7
200 - 50 200
A100-FM22 - 75- 63 a2 75 W e | e HER:MI1Q
120 - 63 120 60
200 - 63 200
A100-FM27 =75 75
120 27 |[120] 73 | 20| 6 | 12 | - - | HeB-M12
200 200
A100-FM32 i 75
120 32 1201 85 | 22 | 7 | 14 | - - | HCB-M16
200 200
A100-FM22.225 - 75 - 50 75
120 - 50 120 | 47
200 - 50 200
A100-FM22.225 - 75 - 63 | 22225 [ 75 | @ HICR:M10
120 - 63 120 | 60
200 - 63 200
A100-FM25.4 - 75 75
2120 254 (120 50 | 22 | 5 | 95 | 70 | 33 | MBA-M12
200 200 B
A100-FM31.75 - 75 - 80 T5
120-80 | 3175 |[120 | 76 | 30 | 7 |127| - - | HeB-Mm16
2200 - 80 200

WEHT 1 X6EXIC & RV LET.

Special size is available upon reguest.

S—NS/mNAHN WAMMSH

m
g
m
=
>
o)
m
o
By




(U)] HSK-MMC 307992 S—U>5F vy
| @MENK

<= MILLMAR MILLING CHUCK

—— et 4 e

iBiEH

IR LAEZHO-— NILO—S ERIMEEBHLRLED
ICERLEARDG #FAOBICT—N\—%{T=F v v
2 OIRIEAHIZ500Kg-m.,

i A combination of increased number of needle rollers and 6
[92) tapered grooves inside of the chuck body exerts 500kg-m
75 chucking force.
= FHRERAL
(@) * F4 v 20xH 5 150mmAEiRICT 10 u Z{REE.
= Engagement of nosepiece with chuck body creates uni
E body structure and increases rigidity tremendously.
E4 Fan
/4 SN IOLEVTIT U EERT DIHBERAK
4 UY 7 E0NE%ERE L T REGERIT.
A Highest quality material: Nickel chrome molybdenum steel,
=~ hardened and sub zero treatment guarantees long life.
i -
)
7
J
S
T
D
7
=
=
=
=
>
x
=
= CODE od L D H G
% AB3-MMC20 -105 105 =
-165 20 165 52 67
% 200 500 M18 X P1.5
(e AB3-MMC25 -105 105 -~
Q 165 25 165 60 80 M18 x P1.5
-200 200
AB3-MMC32 -110 ) 110 | 80 B
-165 32 165 73
200 200 87 M18 x P1.5
= CODE ¢od I D H G
A100-MMC20 -110 110 =
- -165 165
200 A0 200 | 2 & M18 x P1.5
-300 . 300
A100-MMC25 -110 110 =
-165 165
200 25 200 60 80 M18 X P1.5
-300 300
A100-MMC32 -120 120 | =
-165 ' 165
-200 92 200 73 87 M22 X P1.5
-300 300
A100-MMC42 -135 42 135 93 100 =

WY Ao L yEEnELET, ARL— ROl P28 Special size is available upon reguest.



) HSK-MRC L hFxvoHIL 4

<« COLLET CHUCK HOLDER

@MANFD

————— i 4 mae

eTRAA.BFHEILY bF v T., Longlife Precision collet chuck.
e 0OR Y TRENMIG. Can be used for Synchro tap.
e ENT Y ART A BEBERDRT « N T 2 A/ MBS OMEIMT Z2ELTHEYET.

Pre-balanced symmetrically for higher R.P.M.

o A A IFR—ILEISRIHE. Coolant through body. %
)
=

| )
B , (@)
=
G L
.‘.\ |\j
] — g T I\
et >
1 ] i ey N Y
=" B
-~ 7
ik
)
A
0
o)
=
m
9)
B i
C
(@)
x
T
o)
=
(@)
m
HS G2
CODE e L D G
A63-MRC10 - 90 90
- 0 0.5~ 10.0 =5 ] 28 M11 x P1.0
AG3-MRC13 - 90 90
— 1.0~ 130 = 35 M15 x P1.5
A63-MRC16 - 90 90
s 1.0~160 - S5 42 M18 X P1.5
AB3-MRC20 - 90 90
e 2.0~ 20.0 e 50 M22 x P15
CODE bd L D G '“
A100-MRC10 _ -105 105
135 05~100 | 135 28 M11 x P1.0
200 200
A100-MRC13  -105 105
135 1.0~ 130 135 35 M15 x P1.5
200 200
A100-MRC16 __ -105 105
135 1.0~ 16.0 135 42 M18 X P1.5
200 200
A100-MRC20  -105 105
135 20~200 | 135 50 M22 x P1.5
2200 | 200

Wy FIMFRLTOETS. Oy b L rFRBREL L EENL, P32
Comes with collet nut, purchase collet & wrench separately.



@ SPECIAL

kA=) JN—

Special Boring Bar

%)
m
o
>
~

HBRER—) 2 JIN—

Carbide Special Boring Bar

BEOYJaALYy b FyvIRIVE
Long Carbide Collet Chuck Holder

) BEIMTHA
ITEWMEIAI—VI9Fvv 9 abybFyvoERILE
Milling Chuck Holder for Tool Grinding Collet Chuck Holder for Electric Discharge

74

~,

Y%7 Iy R ¥a%H—RNIvD
Special Angle Attachment Special Cartridge



(V) SPECIAL

@MEN

YIS 1 i m e

%)
i)
m
)
>
=

a7 kU BWHR7RBA7—/N
Special Core Drill Special Hob Arbor

HHRER7—/N HHEKMAIL &
Special Grinding Arbor Special KM Shank Holder

Z0—F4 2 JFRIVE WHEYA Ry 27—
Floating Holder Special Side Cutter Arbor

HSKZJIbAy K F—=IN—F—
HSK Special Angle Attachment Taper Gauge

O NBLHDEHR MM A— ARN—JICTIRAGET. [T a—Y— RS lm‘.



SPECIAL

EEMIRAI—0.7578E8
Fixture for multi-axis turning centers.

sHWAEMIW. =I5 —RI7—-0 757 RE,

Clamping fixture with workpiece for multi-axis turning and machining centers.

* SRRET — 3 RS ICREREEDSm EVVELET,

High precision for exchanging workpiece less interference with machine.

(7
i
Q
>
2

¢ 2E—AE. ERTF vV 7R DRE &
BT 2REDHEEET.

2 pieces structure, the length of chucking
piece can be exchanged.

[ 8| |=

! prev : s ~———
o SHEF v v 7R HIKEE. 3T THERETHE. o TEFMOMETHZRTET,

Installing with 3 face on hydraulic chuck. Less interference with spindle head.



(7)) SPECIAL

vt kil )= S /74 VAN
SEhFlEI eI = JE2RER
Fixture for 5 axis machining centers.
o BEMEIEE T Ve A—BT7 -7 7R,
Clamping fixture with workpiece for 5 axis machining centers.

* SHEE T — U X RS ICRBREESEm LV LET,

High precision for exchanging workpiece less interference with machine.

vI03dS

* TRFHMOBHTEEHITET .

Less interference with spindle head.

CODE l MF250-80 / NMT50-MMC42-110

o T — 7 VTR & . IRV E E & LA S BERMBAIRICHISRIFWC LET.

Special design can be made with your machine specification.




2y 7 TRE

A— RMILAEE &3’ Metric coarse screw thread

FIYAX NUILE FTYAR KUV RIYA X KULE FIYAX FUILE
Nominal Drill diameter Neminal Drill diameter Nominal Drill diameter Nominal Drill diameter
M1 %025 0.75 M2.5 x0.45 210 M9  x1.25 7.80 | M27 x3 | 240
M1.1 X025 0.85 M2.6 x0.45 2.20 M10 x15 | 850 | M30 x35 | 26.5
M1.2 x0.25 0.95 M3 x0.5 250 | MI1l x15 | 950 | M33 x35 | 295
M1.4 x0.3 110 | M35 x06 | 290 | M12 x1.75 10.3 | M36 x4 g2 |
M1.6 x0.35 1.25 M4 x07 | 330 | M14 x2 = 92n M39 x4 350
M1.7 x0.35 | 1.35 [ Ma5 %075 3.80 | M16 x2 14.0 M42 x4.5 ars |
_ M1.8 x035 | 1.45 | M5 %08 420 | MI8 x25 165 | M45 x45 | 405
M2 x04 1.60 M6 x1.0 500 | M20 x25 175 M48 x5 430 |
M2.2 x0.45 1.75 M7 x10 | 600 M22 x25 195 |
M2.3 x0.4 1.90 M8 x125 | 680 M24 x3 21.0 - ' =1
A— BB R Metric fine screw thread
2SYAX KUILE 2IYA X RULE FIYA X KUILE FIYAX KULE
Nominal Drill diameter Nominal Drill diameter Nominal Drill diameter Nominal Drill diameter
M1 x02 0.80 M11x075 10.3 M25x 1.5 235 M39x 1.5 375
“MI1x02 | 090 Mi2x15 | 105 M25% 1.0 240 M40%3.0 370 |
_ M1.2x02 1.00 M12x1.25 10.8 M26x 1.5 245 ~ M40x20 380
M14 x02 | 1.20 M12x1.0 | 11.0 M27x2.0 25.0 | M40x15 | 385 |
M1.6 x02 | 1.40 M14x15 | 125 M27x1.5 255 | M42x40 | 380
M1.8 x0.2 1.60 M14x1.0 13.0 M27x1.0 26.0 M42x3.0 390 |
M2 x0.25 1.75 M16X1.5 135 M28% 2.0 26.0 M42x2.0 400 |
M2.2 X025 | 195 M15x1.0 140 M28x1.5 26.5 Ma2x15 | 405 |
M2.5 xX0.35 | 2.20 M16x1.5 | 145 M28x1.0 | 27.0 | M45x4.0 410 |
M3 x035 | 2.70 M16x1.0 | 150 M30x3.0 | 27.0 | M45x30 420
M3.5 x0.35 320 MI7%1.5 155 M30x2.0 280 M45x20 | 430 |
M4 %05 ) M17x1.0 16.0 ~ M30x15 | 285 M45% 1,5 435
M4.5 x0.5 4.00 M18%2.0 16.0 M30x1.0 29.0 Magx40 | 440 |
M5 %05 4.50 M18%1.5 165 | M32x20 | 300 | M4gx30 45.0
M5.5 x0.5 500 M18x%1.0 17.0 M32x1.5 | 305 | M48x20 460 |
M6 x0.75 5.30 M20x20 18.0 M33x30 300 | M48x15 465
M7 X0.75 6.30 M20x 1.5 185 ~ M33x20 310 M50% 3.0 470 |
M8 Xx1.0 700 | M20x10 190 M33x1.5 315 M50x20 | 480
~ M8 x0.75 7.30 M22x2.0 200 M35x15 | 335 | mM80x15 | 485
M9 x1.0 8.00 M22x15 205 M36x3.0 330 - M
M9 x0.75 8.30 M22x1.0 21.0 M36x2.0 34.0 ; -
M10 x1.25 8.80 M24x2.0 220 M36% 1.5 345 |
M10 x10 | 9.00 | M24x15 225 M38x15 365 ' I
M10 Xx0.75 9.30 | M24x10 23.0 ~ M39x3.0 360 1
Mi1 x1.0 10.0 | M25%x2.0 230 | M39x20 37.0

BZOEDRULEAESTNITABEE. MIRFECIURY WROTEREHNTAL T H0T. MIAEMNEL. TRELTFEHEREEE, FU
WAREZEETHBEHNHYET.

E\We remind you upon using the drill diameters shown in this table.that the processed hole should be measured since the size

accuracy of a drill hole may change due to the milling condition, and that if found to be inappropriate for tapping, the drill diameter

must be corrected accordingly.

SE#E
AR IR E (BE1E)

/

it I (e T B R O e O (R
M3 3 | 34 | 55 | 65 | 3 | 27 | 33 | 26 |

M4 4 | 45 | 7 | 8 | 4 |36 | 44 | 34
M5 | 5 [ 55 [ 85 [ 95 5 | 46 | 54 | 43 |

M6 | 6 [ 66 | 10 | 11 6 | 55 | 65 | 51
M8 8 9 [ 13 | 14 8 [ 74 | 86 | 69 |

~ M10 10 | 11 | 16 [ 175 | 10 [ 92 | 108 | 86
M12 12 | 14 18 | 20 | 12 | 11 | 13 | 104 |
 Mi14 14 16 | 21 | 23 14 | 128 | 1562 | 122 |
M16 16 | 18 | 24 | 26 | 16 | 145 | 175 | 14.2 |
Mi8 | 18 | 20 | 27 | 29 | 18 | 165 | 195 | 157 |
~ M20 20 | 22 | 30 | 32 | 20 | 185 | 215 | 17.7 |
A ~ M22 | 22 | 24 | 33 | 35 | 22 | 205|235 1197 |
i // y _:—;VZ’/ M24 24 | 26 | 36 | 39 | 24 | 225 | 255 | 21.2 |
(2 | oz M27 27 | 30 | 40 | 43 | 27 | 26 | 29 242 |
M30 30 | 33 | 45 | 48 | 30 | 28 | 32 [ 267




= # Bt =

A I>aA—Y—IEREd
Fir £ i T630-8452
EZREERMILZERE—THES8-11
tel.0742-62-3160 fax.0742-61-8475
BA & 1,5005 M
B i 1978%5H
5| 8R4T =EHRUFJIRTER XS
FaERERITRISZIE
REBERITAIRKIE
FEANE MCY—1 > J—K. $55iaTE.
BEEAARER
Edxadk ‘%% ES fi ®
Bl Ak /7] 5
LAt Ig i )
N P F .ﬁ%g&i:;z:mu|:rr.~|,laazz-
b_
HoBL :;g\gwu I-hw
/ fpfﬂm

AAERL

ETAOIL

[=Edl%
e b I L

[ ] ]
LEAA HADNIA

G Ein25%

BRI LC
C T8 19 Bh
ESI

EFNRL

OJR-ESKEBILEREK W 2 7 > —I2T(#9105)

CATALCG 201010



ROy —IL

A\ PD2A=D=Jb Fkt S &t

' "¢/ MANYO TOOLS CO,,LTD.

o imry—y, T630-8452 ZELZ FEFRT 1 TEB-11
TELO742-62-3160 FAX0742-61-8475

U R L:http://www.manyo-tools.co.jp
E-mail:info@manyo-tools.co.jp

8-11,1-CHOME KITANOSHONISHIMACHI NARA,630-8452 JAPAN
PHONE.+81-742-62-3160 FAX+B1-742-61-8475

- TTL

( @R5EIE
|
AR A4 B AR E T
TEL : 0538-66-8605
FAX0: 538-66-8645




